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1.  FOR SR T TR TNEH U SR T GHEAEE a0 W 19H HioR
T WEA A 38 ?
() T s
(b) T HIH
(c) T
(d) W FEFR T
et SV /HE faur/< stat ae/d ?
1) () & () T (2)  (b) ST (d) FH
@) (o) TR - @ (@) (© = (d) TR
As per the Kothari Committee which elements are important for economical growth in
human resource investment ?
(a} Enough Capital |
(b} Technical Knowledge and Skills
(c) Education
. (d) Capable worker group
Which of the statements given above is/are correct ?
(1)  (2) and () only (2) (b) and (d) only
3) (9 only () (3 (c) and (d) only
2,

w@wgwwmw)wﬁ wmm@w@mwmm
fyfa FIoImEN JI ol Tl AR 2

(1) 40% - 60% @) 75% - 50% 3)  50% - 50% ) 70% - 40%

What proportion of rural-urban population in India, does the National Food Security Act
(2013) try to cover respectively ? :

1) 40% - 60% 2) 75% - 50% (G) 50%-50% - (4) 70% - 40%
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3. wehw A= SNuR A A1 9
(a) 3?19931:@11531@./
(b) émﬁﬁwm,mwﬁmuo,oowﬁaﬁsﬁa@,maﬁ
(c) & wwitor nfer vl WIS .
(d) fe= e g qeuin e fassed 39 € ST

gt I ;
(1) fe et AR A @) = AR A
(3) TANYA AR AT (4) TR T Y o

Identify the scheme which has the following characteristics :
(a) Tt was launched in 1993,

(b) Ttis meant for educated unemployed youth with famlly mc0me of upto T 40,000 per -
annum.

(¢) Ttis for rural as wel] as urban areas. - .

(d) It's main objective is to make self - employment opportumtles avallable to youth.

Answer options : ' ' : _

(1) Indira Gandhi Rozgar Yojana  {2) Samagra Rozgar Yojana

* "(3)" Prime Minister's Rozgar Yojana * (4) Jawahar Gram Samridhi Yojana

4. T oM faumiE) SR O ey
(a) FEH TS THIAE e ST 2009-10 WEd T A awﬁ
(b) Maﬁmwﬁqﬁa g AT AR e = it cmaa"rqﬂaﬁéaﬁ
(1) ¥ (a) @) ¥ (b) @ *F (4)-@%"@
- Which one of the followmg two statements is correct ? '
(a} The scheme of Ir_lteg;rated Education for the Disabled children was launched in the

year 2009-10.

(b) The schei‘he in vogue pr0v1des assistance for the inclusive education to the d1sabled
children in ciasses I-VIII

Answer options : : , _

(1) Only (a) (2) Only (b) (3) Both ' (4} Neither -
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5. WWWWWWWWWWW
e 7
(a) wrff= anfn wefe= ST S |
() S-S R et S ST W ot = s Feh o
(@ Frofim S R S i e o e e e o 3 e

QUATT R AEHTE A,

(d) T TR AR FATTH T FOGERET
1) (2) ®H @ (@ @) @) )R @ (). () ()
WHO supperts countries in strengthening their capacities for orgamsmg and conductmg

(a) Epidemic and communicable diseases system research

(b) Bio-medical behavioural and health system research related to the unplementatlon
.. of their strategies

(c) Cooperating with deve]oped countries ivith a view io reshaping their public health
research and other related training institutions as necessary '

- (d) Extensive research on indigenous health care systems,
Y10 Whick of the statement/s is/are correct ?

(1) (a)only (2) @ ®amd© @) © 01115’ @ b (C) and (d)

6. mmmmﬁmwmmmwmwww
TR $f ST T How sea ?
(a) wmﬂa%mlmoﬁaﬁmmﬁmm
(b) mﬂmmuﬁmmommw
(© . Wﬁmazoﬁawﬂm

. ﬁ
W @F) @ @
. 3) (b)F(c) _ 4) (@ (@)

Under the National Health Mission select the precise Health Outcome Goals established
in the 12! Five Year Plan to be achieved by 2017 out of the followmg

(a) Reduction of Infant Mortality Rate to 25 per thousand live births.
(b) Reduction in Maternal Mortality Rate to 100 per 1{]0 000 hve blrths
{c) Reduction in Total Fertility Rate to 2.0.
Answer options :
(1) (&) and (b) (2) (a)and ()
(3)  (0) and (c) : (4) (a), () and (o)
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7.

wmmwwmmmmwmmm
A FIOAEE! G TS G Ui 0 A7 Wi aeid 958 H0 Tufaa g ?
(1) . S e AT (J5Y) (2) TR T SR SR (NRHM)

3) T R AR (SSA) (4) o9 (AYUSH)

As a part of strategy which of the following health programmes has to train and enhance
capacity of Panchayati Raj Institutions to supervise and manage public health services :

(1} Janani Suraksha Yojana (JSY) (2) National Rural Health Mission (NRHM)
(3) Sarva Swastha Abhiyan (SSA) (4) AYUSH

8.

WA ! F IV gl SrTiae SRS oA ST Qi AR S9F FHHAR (Universal
Health Coverage) BRI Feren 7@l

(1) ¥R TFR (2)- S HA TR FEA I A A
(3) 3T Y=iwret SEwEE S faet @ [T F [fEUR

Which one of the issues given below is not included by the World Health Organisation in
the framework for Universal Health Coverage ?

(1) Kind of services . (2) Whom the services are to be provided
(3} Funding required for such services (4) Who will provide the services

9.

T STAATeN ere HIsh |ad 85 1987 Aed 139@@%&91%@@%@1 |
FGR WIATEdeH! Hivid! 7 e T ?

(1) - T AT HH FOAEE R 63w A
(2) IR HG & TATES! Y

3) VA T TS ST S ZeR w5

@) wOwwd

" In 1987, recognizing the human health hazard, 139 countries signed the Montreal Protocol.

Which of the following did the protocol establish ?”

{1) A time table for the reduction or elimination of Ozone depleting substances

" {2) Efforts towards generation of no-smok zones

(3) Ban on the use of preservatives in food
(4) All of the above

&oeAT THWTETS A0 /SPACE FOR ROUGH WORK | .
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10. fagw, vfyam Sma snfn & I wew @1 T SESIN ' FS- AR FIE TTEHTATHT
TEEl ?
(@) e et
(b) e Q@

(c)  TIITET TER SR ARl A
() feFamT=T TAF TR

ThHAYH FIUE/FI0RT faum/ 3 S aw /7 ?
1) (a) ¥ 2)  (a) S (b) werd
(G) () ®x @ (a), (c) 3w (q)

The ‘Kala - Azar’ which exists in Bihar, West Bengal and Eastern U.P. is transmitted
through the :

(a) brucellosis

(b) guineaworm

(c}) bite of a sand fly

(d) black water fever

Which of the statements given above is/are correct ?

(1) (a) only @ (a) and (b) only
(3)  (©) only @ (2 () and (d)
11, TEId 9 [GURiiST $Iv[ 3T e ?

(a) UL 3vem Fanw FRiFEATE GEAE 1996 T AT,

(b) T FHTEHATET G T 2020 TG e 0.3% THA VIR T IR,

et I ;

(1) %S (a) (2) %9 (b) (3) A (4) e TE

Which one of the following two statements is incorrect ?

(a) National Programme for control of Blindness {(NPCB) was launched in the year
1996.

(b} The goal of the programme is to reduce the prevalence of blindness to 0.3% by 2020.

Answer options :
(1) Only (a) (2) Only (b) (3) Both (4) Neither

AT WISt W /SPACE FOR ROUGH WORK
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12.

TFHREEHE HHA0 FHEITER Eeieiien! FIv T BT 3R 2
(a) @ THSIa IR T TR YR 9Hu0 fag Al

(b) @ fagia Fae TF T TEIAT ST SFAY 95 .
(¢) HFHOIR FANML] FH AN Gt wt ez,

(d) & fagia quTar=n snfte fammT=n cvafEt SYRA SR,

et I
(1) {a) 31 () (2)  (a) FfT (d)
(3) e (b) I () ) (@), (© s (d)

As per the Demographic Transition Theory, which of the following propositions are
true ?

(a) The theory is based on four successive stages of transition.

(b) The theory is based only on three successive stages of transition.

(c) Post transitional societies are characterised by low birth and death rates.
(d) The theory is based on the stages of economic development of society.
Answer options :

() (@ and (©) (2) (a) and (d)

(3) Only (b) and (¢ 4) (@) () and (d)

13.

1919ma%wmsmﬁaﬁmghmmmam)@ﬁﬂﬂﬁwﬂﬂmwwmm
IOERE HAT T g e O e a5 IR W)U

(1) fam, giem 1 safo s

(2) aEATT Wit giET S st wem

(3) SR, THHRE vy i g A

(4) TR R i FHm

The International Labour Organisation (ILO), which was founded in 1919, has a umque
tripartite structure which provides equal justice to all. The three members of the clemgn
are :

(1) Employers, Union leaders and workers

(2) Management, Union leaders and workers

(3) Government, Political Parties and Union leaders
(4) Government, employers and workers
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14.

9 MO6b6

et AR fedrean Gremaen FAan € Afgeiaret aftus g e GeH W S R
(1) THY FEN HAE TF A SR i S @ @ e T9E 1.

(2) A fowTolt SETSIATET giaan 9 GeHgN IYSR el .

(3)  STSTRRT=AT WEameTar uTa ff. W, Sau=a 31 a1 Ferg SMEt STsal F& fael M.
(4) o0 wd

It is said that MGNREGA is more women friendly than the previous labour welfare
interventions because :

(1) It prescribes that at least a third of all workers be women.

(2} It makes provisions or facilities such as childcare at the worksites.
(3) It provides work within five kilometres of an applicant’s residence.
(4) All of the above,

15, Tsfia M o e Ao S, Sde e i) S deefan @ o, @ A

AT AT RV T T 314 2

(1) omReaTE M

(2) WA e G T

(3) m%mwﬁwmwﬁﬁwmﬁﬂﬁ

(4) T G TR

Rajiv Gandhi Grameen Vidutikaran Yojana aims to cover electrification of all the villages
in the country. Which villages given below have been excluded from its scope ?

(1) Tribal villages

(2) Villages in remote and hilly areas

(3) Villages in which 60% or more population is above the poverty line
(4) None of the above

16.

i fyrides FvR GRg #g ?
(a) YR SfaymE Ferd-21, AAT fawmmnt gefia o,

(b) T HfEYETET 42 SN WAREHAER FarEed 9 aege FEaer aues gfa

AT S,
ﬂﬂfﬁiﬁ‘l’!‘:
(1) a2 (a) (2) s (b) @ 4) THE R

Which one of the following statements is correct ?
(a) Article 21 of the Constitution of India deals with human development.

(b) The 42" Amendment to the Constitution of India included Family Planning and
Population Control Programme in the concurrent list.

Answer options :
(1) Only (a) (2) Only (b} (3) Both (4) Neither

HoAl HETEEl A /SPACE FOR ROUGH WORK
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17. WA Tl TaeReIrsa) Siaamem TeeUE Sohidt Ao AR, qreuta 3 Sied s,
‘A -
(a) ~fded wfirdt (1975) (i) TEIN TqHRenTS PEEm
- (b) R g (1971) (i) &eftr g e nfor avof S A

() Tfdeq gt (1991) (i) favmitg vt FHTET T

(&) FH U9 AT T (1989) (v) faxita & guro=t geama

it 39 ;

(@ () (¢} ()

M @ @ @) W)
(2 Gv) @) @

G O (v @ @)
(4 (@) @ ) 06

Following are some of the major landmarks in the history of the evolution of Indias rural
credit policy. Match the following :

K A) . . IB! -
() Narasimham Committee (1975) (i) Formulation of new credit policy
(b) Nariman Comumitiee (1971) (if) Priority Sector lending and lead
Bank scheme
(c) Narasimham Committee (1991) C (i) iett]i:g up of regional rural
an

{d) Agriculture Credit Review Committee (1989) (iv}) Introduced financial sector
reforms

Answer options :

@ () @ @
1 @ @ @& @)
2 (v @) @ @)
3 @ @) (@ ()
4 @) @ & 0
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18, . STRATIFET FEud | TR TEHT’ RU

(1) ST FEHA TR We e qem

(2) -SRI feordt SO Faa ST TR FEHTIH SR FREAT SRR

(3) TEE[E TR T e s Jafoeeon 99 o yiaHs

(@) Rrarem weutd fofa S qd wew v wwed it @Y SR quwwaren
TERAA W TEHTT ST,

In terms of health ‘Community Participation” means the :

(1) participation of all adult members in the implementation of health programie,

(2)  ability to understand the self health condition and respond to the health programmes
through active participation,

(3) people respond to the services which are planned and implemented by the
government machinery,

(4) ability to make informed health decisions and be an active participant in improving
one’s own health

19.

WRTTe SIRFT HERATAR (WHO) * TR 41 TIsgrei S

(1) Wi s wFfas wHeaiar oiTe 7| T

(2) WIVETE S99 AT SUITER A7 S,

(3) TFaR =} fhan S S1TE AR X Wyl e, qﬁfeaﬁsqﬁrwrﬁﬁmmﬁt
(4) wyul wHifE, Arfaw® @Ry anftn st @

According to World Health Organisation, ‘Health’ is defined as :

(1) Overcoming physical and psychological problems completely.

(2) Having the appropriate weight in proportion with one’s height.

(3) State of complete physical, mental and soaal well being and not merely the absence
of a disease or infirmity.

(4) State of complete physical and mental wellbeing and absence of disease.

20.

aﬁaaﬂﬁmﬁaﬁaﬁwﬁwm?

(a) wmwgﬁﬁmwﬁmﬁrﬁn%m&ﬂgﬁﬁéaﬁ%ﬁﬁﬁ
" (b)  FHER 1400 O 1961 T WAH FeATaIST FeatHA fafea TeAfwan Figd uaed.

wi‘d’taa‘(:
(1) %9 (a) (2) %% (b) (3) & 4) THE TR

Which one of the following two statements is correct ? .

(a) The first male operative family planning camp was organised in Pune in 1961.
(b} Around 1400 males got operated in the first family planning camp in 1961.
Answer options :

(1) Only (a) (2) Only (b) {3} Both {4) Neither
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- 21

Wi I fagidst Hor aeg e ?

(@) R W desE TRue A R A e e W mrmz

1936 WEA SRfaE] A,
®) awmmawmmwmaﬁnmﬁ
(1) m(a) 2) %ﬁw(b) @) - 4) TEATE

Which one of the following two statements is correct 7

" {a) The credit of organising the first conference on populatlon goes to the Lucknow

University. The conference was organised in 1936.

(b) It was Gyanchand who wrote a book titled ‘Indias Teenung Millions’.

Answer options :

{1) Only (a] S (2} Only (b) (3) Both - - (4) . Neither

22,

forandta aTEM S (. 0. ?ﬁ)wﬁwﬂam%q
(a) T4 freror womciia ST ST,

(b)) T Ruforw fawaist s arwefa, |

) wﬁamﬁmmﬁmﬁmmﬁrmaﬁmw

) @ @ @) () () 3T @ TR

@) ), @ T () B (4) =0 §d
What are the main objectives of establishment of UGC {University Grant Commlssmn) ?
(a) Co-ordination of hlgher education system.

) ' Enhance the scope of all the educational dlsaphnes |

(¢) To promote education in all the walks of life.

(d) To maintain the standard of higher Educatlon and Research
Answer options : -

(1) (a) and (d) only {2) (d), {a) and (c) only
(3) (b), (2) and (c) only {(4) All of the above

FoAT HEETS UM /SPACE FOR ROUGH WORK
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wdte 9 faemieR R 9 o ?
(@) e v ddwn RTER e, @ w@da vRarE FRAFENTER w1 w5l
o YRl §edl AR,

b mmﬁzgmﬁwmm&iﬁ qif 4 37 TR erA winst Iﬁﬁ'ﬂ
| aﬁﬁmaﬁg&mméﬂ—mwﬂﬂaﬂmﬁﬁﬁﬁ

Tt It
1 =@ @ ¥ ) @ ¥ (@) T

Which cne of the following two statements is correct ?

(a) National Integrated Medical Association of India is the first NGO to work on Family
Plarning in the independent India. _

(b) International Planned Patent Hood Federation however provided financial, technical
. and all other help to another NGO the Family Planning Association of India.

Answer options : L
(1} Only (a) (2) Onmly (b} (3) Beth (4 _Neither

24,

B afvg erher S W=y 3ive faftsw fafeemy oiw, 2007 = sigew; ‘=4 M
TR STt AN A

(1 e i st o
)] mmaﬁamﬁrmﬁ
(3) I TER e TF TS i o7

@ R, T e W S s o

As per the Maintenance and Welfare of Parents and Senior C1t|zens Act, 2007; the scope
of the term "Parents’ is :

(1) Only the biological father and mother
(2) Only the adoptive father and mother
(3) Biological or adoptive father and mother

(4) Biological, adoptive or step father and mother

e HTUTHES AT /SPACE FOR ROUGH WORK ' R
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25.

mﬁmmmm'amﬁmm-'mm;
(1) Tormamesta der wion senin grmm sif g Hied e @ A o,

Q) SRR T e it @i st AEEet Hea SR dat ST B

ST 7 YA S .
(3) T ARAT i SFETeTe Fad FIOATEEY AT ST T R,
(4) TS HE AT A M GEAT S RIRvaRE 8 S S,
In the context of rural development, what is the meaning of ‘Aajeevika Skillé’ ?

(1) Itis a project run by the NGOs to teach rural yoﬁth handicraft and handloom skills.

(2) It is the effort of health ministry to provide people with free medical services for
life - threatening diseases. '

(3) It is one of the initiatives of the government of India that seeks to promote rural
~livelihood.

(4) It is the mission undertaken by HRD ministry to teach rural youth entrepreneurship.

26.

TR TS T T GSEIA WA TR Wi e o B, § $u frive

AR ? |

(a) SO R S R e

(b) TS HH FOGTE FaraeTn

() T ToTE A HewE ELIRIER

(d) T (F) 9T FFA QUErE! FArasHl

il Fo/ Fi. faum/ faem srgE TR/ 3mea ?

1) (a) % 2 @ OafE (3) @) FE @ () () Fmd

The Pradhan Mantri Gram- Sadak Yojana (PMGSY) is a huge ceniral investment in the
state sector as a part of : ,

(a) Development of rural infrastructure strategy
(b) Poverty reduction strategy

{c) Development of rural transportation"and communication strategy

(d) Wage giving strategy .

Which of the above mentioned statements is/are correct ?

-«

(1) (@ only @ @ ®and(@ @ @G only () (b} () and (d)
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27. = AEEE W Aed e e, Tafie sdiel dieHen 6 $aE W S o
- Fue faarEda de fasiaE Aies ?
(1) i =r TeE (2) U fEm
(3) el W (4) weT
Which philosopher says that when population increases enormously the nature takes
upon itself and makes natural disasters happen to reduce population ?
{1} Dr. Swami Nathan (2) Emil Durkhaim
(3) Kari Marx (4) Malthus
28, T 9 faumite! Sk R R ?

(a) ¥ ierEl 1983 ¥ AT 3T STEIATARI HFETONGTTHR FEAATHROT el
(b) " TiaEt 2002 F wETTHRor Ft i Fet 9 YR FEEG ST TIEER B
ToiEt 36 :

Q) ¥B@ (2 FES() @) R (4) wwE T
Which one of the following two statements is incorrect ?
(a) The Health Policy 1983 drew upon the general ideas of Alma Ata Declaration.

(b) The Health Policy 2002 was less general in approach and made more elaborate
recommendations on strategy and policy.

Answer options :

(1) Only (a) (2) Only (b) (3) Both (4) Neither
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29. 2014 = 9E fae FEIFTER wRa S0t @ e u nfeee q0e s w9
e

(1) 13541 3mflr 141 =0 (2) 126 = anfer 136 =

(3) 13541 3 146 =0 (4) 1254 30T 147 =0

Asg per the Human Development Index, 2014 the ranks of India and its neighbouring .
country Pakistan are respectively :

(1) 135th and 1413 (2) 126'%h and 136th

(3) 135t and 146t (4) 125th and 147th

30, @?ﬂaﬁaﬁaﬁvﬁﬁwmmmﬁmwﬁﬁﬂwmﬁmﬁmﬁﬁa‘ﬁﬁﬁm
TegATHe I W w A ? '

(1) Toen wgam AT

(2) wd fean st

(3) V&R R AR
(4) e et afee frme Fe

Which of the following schemes, launched in 2001 is meant to be fulfilling India’s .
‘Millennium Development Goals’ of education ? '

(1) Shiksha Sahyoga Yojana
(2) Sarva Shiksha Abhiyan
(3) Saakshar Bharat Abhiyan

{4) Kasturba Gandhi Balika Vidyalaya Yojana

HOAT FTEIS SN /SPACE FOR ROUGH WORK
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31.

304825
17 | MO6
i B faaAiie wod 9 AR ?
(a) OO deE TR S Faa T
(b) HORER T REER S- uroTS e S .
g IW :

(1) Fa@ (3) (@) F92 (b) @ == (4) THE TR

Which one of the following two statements is correct ?

(@) Malnourishment has nothing to do with the development of brain.

(b) Marasmus and Kwashiorkor are severe forms of protein - energy malnutrition.
Answer options :

(1) Only (a) (2) Only (b} (3) Both (4) Neither

32.

W e faamide B s S ?

{a) WWSWW

(b) ﬁ%uﬁaﬁwm@ﬁﬁm&

(¢) STEMVRAF T IvaETEd sUd drRfaarR .

(d) TS vy, JAfraa i a <hmr Fifen 9 sieReR g9 209r ST IR
(e) THERE T HIH RS AR,

© T T et sfqrReE o H .

it 3w : '

@) (© 2 @ G @© 4 ©

Which one of the following statements about SAARC is incorrect ?
(a) Presently there are 8 members in it. “

(b} Its secretariat is located at Kathmandu

(¢) The issue of A.fghanisitan joining SAARC generated a great deal of debate

(d) US and European Union and South Korea have been granted observer status.
(&) Myanmar wants to be a full member

() Russia and New Zealand have applied for observer status.

Answer Options : ‘

1) © 2 (d) G} @ N O R U
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33.

T TRl T FAW SR (NUPRS) U Weem= 92 T80
(1) Rarfors Hee AT T IS FEA 0,

(2) fFema = agErE e RS T ey FHT.

(3) ey WERE ¥d g0 T dersa glaw Ioas 0,

(4) WU HUS-TZ T qAf0.

One of the chief components of National Urban Poverty Reduction Strategy (NUPRS)
18 : L

(1) Making a_vailable educational institutes to the urban. poor. .
(2) Making provisions for shelter, transport in the urban areas.
(3) Providing medical facilities to all the urban people below the povertylme

(4) Ensuring slum free societies.

34.

i B

et 91 faumits) SR 9ug g ?

(a) %mﬁwmwssmﬂaﬁﬁﬁawﬁawﬂﬁaw aﬁqﬁamﬁaw
ISR AES gE ST Sl

() i fras THENHEH FUER 9.

it e

O ¥ @) @ ¥mE () F @ m‘rm
Which one of the following two statements is correct ?

(a) Indira Awas Yojana was launched in the year 1985 only for those belongmg to
Below Poverty Line and are the members of either Scheduled Castes, Scheduled
Tribes or Other Backward classes. .

(b) The beneficiaries are selected by the Gramsabha.

Answer options :

(1) Only (a) ) Only (b) (3) Both (4)".'. Ne:lther |
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35, EretE) o Y ST ST ST S o 2

(a) AR

(b) iR

() fow

(d) T

it 36T

(1) (@) ® (@ (@) (b) 3 (c)
@) b)wH ORNCELLICIAE
Which of the following is/are the German Originated Indian System/s of Medicine ?
(a) Ayurveda

{b) Homeopathy

(¢) Siddha’

(d} Unani

Answer options :

(1) (@) only (2) (@), (b)and (c)
(3) ()only (4) () and (d) only

36.

wia 3 faumits ®ud 9y 9) 2
(a) ‘aofaEt weRTe A Ao Qe FrEEa’ TafavaTE SEEeR Aige 2 Srawem

HEMEHS Wt et 3. |
(b) SR FYET ASAETE T iRt qerdl S 15 S 2007 TR =Ea™ gl
qaidt e : |

1) ¥ (a) 2 T (b) @ = @) THE AR
Which one of the following two statements is correct ?

(a) Execution of “Tejaswini Maharashtra Rural Womens, Empowerment Programme’ is
the responsibility of Women and Child Welfare Commission.

(b) To be a beneficiary under the Balika Samrudhi Yojana the girl has to be born after
15t August 2007.

Answer options :
(1) Only (a) () Only (b) 3) Both (4)  Neither

FHoeaT HTAAEl AT /SPACE FOR ROUGH WORK
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37. TEIA M fayHites! S Irg @R ?

(a) TN WA v wem o, meﬁwmﬁﬂﬁzdﬁm
§TRNT &+ U TeeAT Sl

® 'Wmﬁmmwmmﬁmmwmm

. FEET T L
u‘aiﬁ?ﬁ"f

L@ %ﬂa(a) () ¥ () @ I (9 T

Which one of the following two statements is correct ?

(a) Inview of the gravity of the problem of Tuberculosis and in order to spread awareness
about the disease, March 24 is observed as the World TB day.

{(b) In connection with TB it is generally said that cough lastmg upto a month need not
bother you.

- Answer options :

(1) Only (3) () Only (b) @) Both (4) Neither

38. .

T Ao TEA (e TR W faEin) 2013 AR WA TSN SaTS S R

“Higfaet TR aﬁﬁﬁﬁwwﬁaﬁmwﬁwmmmﬁm

9 Ifor 54 % w2
(1) ETE wifr wAlEE (2) e sufer qeTIY
(3) ar-rfama:ufmﬁ?ra | (@) s oo et s

The Sample Reglstrahon System data (2013), records the mfant mortality rates for the
Indian states. Identify the states from the ones given below wl'uch had the mfant mortality
rates of 9 and 54 per thousand respectively :

(1) Nagaland and Karnataka (2) Goa and Madhya Pradesh

(3) Karnataka and Kerala (4) Mizoram and West Bengal

FHocl HIHETS AT /SPACE FOR ROUGH WORK
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39. W HEN SAG AT THed S0 FrdHA fGaat SRa. Thed A ARG SRwH e Ag

o
@ mﬂﬁqﬁm%ﬁmﬁ TR @) T3 PTGt e S
e _ | G o g -
o WgIeg Aaeg BUial
wT. .
() U o=t Gii) @ TR T =
(d) FF T HR TS Frator o, (v) Tga P fafay smfe w0,

TiEr S
L@ B © @

1) @) @) @) @
@) @)

G 0 @ @ W

@ ) @ @ @)

Following are some of the projects and programmes in the health sector. Match them

appropriately : '

Projects Programmes
. (@) Commissioning of Primary health centres (i) Intensive drive for family
planning
+*{(b) - Air-conditioning of the hospital ' (i) Conversion of health care
L o : delivery system from
i unipurpose to multipurpose
- system '
(¢) Setting up a Medical College (iii) Mass health education
, campaign '
(d) Establishment of network of family (tv) Organising family planning
planning welfare centres camps

*’ Answer Optionis :
T e e e @
M @ @ @ 6
@) (i) @) @ ()
G O G @) W
@ v @ @ (i)
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40.

YRaTde restaE et s @ e e fasfad o e, & ugat I SaaegH
3T T S0 AW 9. Wielterdst wiva fEUTT 21 Jonei=a JEdid 39T o8 7

1) & A St i T T YR SRR .

(2) @ drom wRarde | aewiEe ge o, |

(3) & AN ARG T A AR WA SEAAS Tee .

@) T ANTIER FEvE I6 I g, 9GeE, W, Whel et FEA fae I,

The Public Distribution System has evolved over a period of time in India; as a system of
management and distribution of food grains at affordable prices. Which of the following
statements is untrue about the system ?

(1) This scheme operates under the joint responsxblhty of the central and state
governments.

(2) The scheme is open to all the consumers in India.

(3) The scheme operates through the ration shops which sell commodmes at a reasonable
rate.

(4) Basic commodities like wheat, rice, sugar, kerosene are made available through this
scheme.

e faswmraast TR 2015 AW <@ 99 WO EEa 193%sna1mﬁ$wﬁq%a 2030
e [iEa FOGTE RV AFAF A6 ST AR 38T ?

(a) T AEAH Jog R 70% T T FHI@,

(b) I g 25% A FHl HIEIET TEIH TG,
(c) W &I I 90% 3 HHT FHAW,

(d) ST ATEr FHIO 40% 7 AT ‘

FhAIT BRI/ FvE Har/ JRET /a2 L _
1) (@ FH 2) (a) () B (3) (a), (D) AT(E) (9) (a) (b) FAON()

Which of the following global targets for 2030 in relation to child development are likely.
to be set in the proposed world’s 193 governments meet to be held in New York in
September 2015 ? - :

(a) reduce new born mortality by 70% :

{b) increase immunisation to reduce child deaths by 25%

(¢) reduce child tuberculosis deaths by 90%

(d) lower chronic child malnutrition by 40%

Which of the statement/statements given above is/are correct ?
(1) (a) only @ @and(®only () (a) G)and () @ (a), (b)and (d)
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42, FUCH FEATEE TEAT S ARTSN § WA A TEUATE] g SN I 1R ?
(1) feg faame wr=t
(2) T viaeu® TR
(3) FiEfas fFEER faRd aw s
(4) Toefea 4R Gul W A

Under which act the women are given a right to live in their maternal home as well as in
the house of their in laws ?

(1} Hindu Marriage Act

(2} Dowry Prevention Act '

(3) Domestic Violence Protection Act

{4) Married Women’'s Wealth Protection Act

43, YEE A faymide! FIoR ara e ?
() ‘EEE He § anfeard) HE qemeaE faiiva; weHeaE e foe SR
(b)  90% TEA Fi PEHA i T F AR FIOTAR FoiAESt FHER Tg@ TR,
T I

1) 93 (a) (2) @ (b) (3) <= (4) UHE AwI
Which one of the following two statements is correct ?

{a) ‘Khavati Loans’ are the advances extended to the tribals by the Tribal Development
Corporation particularly during the monsoons.

(b) 90% of the loans have been extended to the landless who are otherwise not eligible
for any loan.

Answer option : :
(1) Only (a) (2) Only (b) (3) Both (4) Neither

44. SIS U U F} = ARG A S, FoG A el HHA,
(1) Fovam, FreeEm, gt At JeeEr
() fovar, fremm, st sft et
(3) favawy, T, vgEe afv fsEmr
(4) fawary, waffa, Tnvea i gmfore
When we say that a person is morally good, we mean that the person is
(1) Trustworthy, faithful, honest and virtuous
(2) Trustworthy, faithful, honest and hard working

(3) Trustworthy, humility, sincere and faithful
(4) Trustworthy, devoted, patriot and honest

FoeAT HINES WRT /SPACE FOR ROUGH WORK

)

P.T.O




MOé6 24 A
45. Ei M fqumie! Sk 9T 1 ?
(a) TIF 9 fomm Ten & RA TR STRATER W shold! FET 3 o O e
T wSfarararst qaski<l i areE favar 394,
(b) 1 HER IR F 1988 WL TE Ha.
it I :
) () (2) FE () () (4) e T
Which one of the following two statements is correct ?

{a) The Institute for Youth and Development is an institute established by the
Government of India in Bangalore which believes in harnessing the potentlal of
youth to bring about the desired social changes

(b) The Institute began its activities in 1988,
Answer Options :

(1) Only {a) (2) Only (b) (3) Both (4) , Neither

46. STEHRTAIT SEIHR S (R 29 fagHde S @Y g ?
(a) aﬁﬁﬁiﬁmmﬁwma&mmﬁvﬂmmwmmm
R dgfF AEH-EH AR Y TeM ARH-TEH TR,
(b) TG AT & el qEl e ot gaRes ffreaaat g« el
wf R
() () () @ (b) @ (4) IR
Which one of the following two statements is correct about the Alcoholics Anonymous ?

{a) Alcoholics Anonymous uses one of the most effective social therapies of personal
interaction and not that of group interaction to treat the Alcoholics.

(b}  Alcoholics Anonymous was started by the ex-alecholics in the United Kingdom.
Answer Options : .
(1) Only (a) (2) Only (b) (3) Both (4) Neither

HoAT HIWART W /SPACE FOR ROUGH WORK
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47, T 3T fovarE Y SnfEarEia SIS A S ST HLvArdd A T eEe T

U 3% 70 g W HOR Sl F v det A st et e ama,%qw”
AW ST

(1) ST TA | (2) TCEAHYE A
(3) A afE (4)  TETCH Wi

While Nehru believed that the tribals should not be kept as anthropological specimens for
the intellectuals merely to study them who said “leave them alone” and to follow ‘National
Park’ or isolationist approach ? '

(1) J.H. Hutton (2) Vallabhbhai Patel
(3) Elvin Verrier (4) = MK Gandhi
48. VUM T AH [EREEE S AT AR ?

(a) %wﬁﬁwﬂammﬁmﬁaﬁm%m(aﬁﬁﬁnmmw)w
ARG T T G o QA ST F 3aT G I I BTl fgot . '

(b) Waﬁawﬁﬁmwﬁrweﬁmwm.
ugidr 39Y
(1) 5 (a) (2) %= (b) @) & (4) TR

What is correct about the Prime Minister’'s Shram Awards ?

(@) They are given to workmen working in the departmental undertakings and the

public sector undertakings of the Central Government and State Governments only
in recognition of their outstanding contribution in the field of productivity etc.

(b) Between Shram Shree and Shram Vir the one higher in order of precedence is Shram
Shree.

Answer options :

(1) Only (a) ) Only (b) (3) Both (4) Neither
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A FEAOT] IS TN 95 B9 e S o 959 919 S glesssT
HIVE TRIBAGS BI9ITH! T 3718 2

(a) FgH, Meal 3Ny wE™ F3Hd

() T KL

(c) e i W FeEm

(d) GETEY snfor W H

FhETEE = iuR/RIoEl faam/Y SER R/ s ?

1) @ (2) (b) wH @) @ b)) @) (@) b
The ecological approach of child welfare requires shift from a child centred to :

{a) a family, school and community centred focus.

(b} a family centred focus.

{c) a school and community centred focus

{d) a peer group and school centred focus.
Which of the statements given above is/are correct ?

(1) (@) only 2} (b)only G @ Oand} @ (a) (b)and(d)

50.

Y YE-LESN HIVRAT TR L& KT e ?

(@) A T iR I SR 9 TS A

(b) IR TE HlER T A ATAH T A,

(€) Hewiem Td fromix TEM FE4 TE A% Yaeen FATE WIFS FAOAH T ATAM.
(d) - IS WEHA AT FIA WAhE FIOAY T Wi T .

T IV /v fagr/Y s0wt s/a?

(1) (a) s (2) (@) ST () FR (3) (b)) FH @  (a) () 3N ()
Micro - credit Financing starts with the assumption that the :

(a) the poor are willing to pay low interest rates to have access to finance.

(b) the poor are willing to pay high interest rates to have access to finance.

{c) the poor are willing to repay the borrowed loan abiding all the banking rules.
(d) the poor are willing to repay the borrowed loan with some outside help.
Which of the statements given above is/are correct ?

(1) (a) only (2) (@and(c)only (3) (b)only 4) (@), () and (d)
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W FHEUMEET 1950 T8 YA wet YRAen S0 FERAEET Tea el ?
(1) TR & w8 29 aae, e, 6 197 e :e! ad

(2) FTET TR s A f TR | |
(3) TEF TR TREEI WA FrIHH

(4) VTR TSrRITE SgE SRS AT TAR A1 S<9 S5 WA
UNICEF's assistance to India for Child Welfare during 1950 was for :

(1)  relief supplies to children in need, skim milk powder, drugs, vaccines etc.

{(2) long term social and human development needs.
(3} extensive village level nutrition programme.

(4) community use of appropriate protein rich and ready to eat food.

52.

mﬁmgﬁﬁmﬁrmwﬁamﬁawaﬁﬁmm TERe At
mzﬁﬁnﬁ Wﬂgﬁﬁa‘f mﬁwﬁmﬁﬁ? |

(1) 31, sl 49 (@) T TR Al

(3) T T (@) TR

The difference between girls born and g1rls that could have been born is called as ‘Missing
girls’. Who put forward this concept of “Missing girls’ ?

(1) Dr. AmartyaSen .: .. .(2) Dr. Babasaheb Ambedkar
(3) Dr.Gopalan . . .. . . (4)  Padmini Swaminathan

53. -

aﬁa&ﬁaﬁwaﬂﬁmmmﬁwwaﬁrwﬁmmwww%ﬂ?
(1) e S (2)  E v e e g
@) FWfaws (@) ks wfm

Who from amongst the follomng identified the three levels of intervention i.e. supportive,
supplementary and substltute for child welfare ?

(1) Milter o (2) Henry Mass and Richard Engler

- (3) Mary Richmond | (4) Alfred Kadushin
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54. @rRi@iH gfE aUSRER Ifoms SRR Sed 10 2
(a) FIERS wafwen #ivw Hacml
(b) HEEER G
(c) = WIfest SR HATUF HE™

o e

ugidt 39 :

(1) (@) T D) (2) ¥ (b)

(3) W (D) A () 4) 0w T |

Which of the following factors adversely affect unemployment among the educated
people ?

(a) Extra concession to unproductive persons.

(b) Privatization of service sector.

(c) Additional importance to Information Technology.
Answer options :

(1)  Both (a) and (b) (2)  Only (b)
(3) Both (b) and (c) (4) Al of the above
55. Tafay weam O Famar=n 89 50 S9N ST FEURE H FOTE TEaE! JL1 SR,
T 9 I Ao Ae .
(a) N 9TE fEg Frfraym () R ETE
(b) I AT : (i) foer
(c) figwm faferar vea (i)  Hfear
d) <> T (iv) TR |
et I

(a) (b} (0 (@
(1 @) ([@v @ d
@ @ @) @) 6
@ v 6 @ (@)
(9 O @@ (@) ()
Following are some of the Voluntary Organisations working in the field of youth
development in different states for over 50 years. Match them.

Organisation State ' |
{a) Young Men's Hindu Association (i) West Bengal 1
(b) Abhay Ashram (i} Bihar |
(c) Hindustan Milia Mandal (iii} Orissa
(d) Town club (iv) Maharashtra

@@ b © (@
1) @) vy @ G
(2) (@ @) (@v) ()
(3) (v) () () (i)
@4 @ @ @) (@)

i
Answer option : _ ‘
|
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56, o Mo e Fie w1 T mmmwwwmm
(o) Siesd e i ?
(1) e feprd (2) @
(3) WA TR (4) T WREG
As per Russel and Hiralal the position of Bhil Tribals as the oldest inhabitants of the country
is recognised by their employment in the capacity of :
(1) Village Beggar ' (2) Village Messenger
(3) Village Labour (4) Village Watchman
57. TiEen GRS GG qeie faan Sl o e 2N, A S e Sradi wigai
T A0 GO Fea™ AR, UHET F WieA WRITHER A F1 FEars widt siger, ey gt
B, TAEN T T dda .
(1) AeRE@WE (2) HAUE A
(3) R EE | (4) i M
Who gave the following quotation with regard to Women Empowerment, “To awaken
the people, it is women who must be awakened. Once she is on the move the family
moves, the village moves, the nation moves”.
{1} Mohandas Gandhi (2) Bhimrao Ambedkar
(3) Jawaharlal Nehru (4) Indira Gandhi
‘58, ‘WefUrmaT’ € e SIS WIROT YU ST T Tiane] ST oM

(a) e Sifer feRIOTeS 4=

(b) = AEFTARET = T 3o

(¢) T T RS WEETS WURY Fdl W

(d) THId e T4faE ¥R

et R o v/ e /a2

1) (@) %R (2) () FR (3) (. (®) () (@) (a) () S(d)
A ‘norm’ is a shared expectation of behaviour that connotes :

(a) More specialised set of actions.

(b) What is considered culturally desirable and appropriate.

(c) Itis a simple habit of action common to the members of group or commumty

(d) They are established ways of acting in societies.
Which of the statements mentioned above is/are correct 7

(1) (a) only (2) (b)only @) @, band(c) 4 (a) (b)and(d)
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59.

sfgamiN wien SR e Fw e
@ o o

(b)) U AW 99 Sewiv €.

() T 6 = Sgfas e 2. |
(d) SR S-SR S Y BT 1980 1 PR See .
TS HIK/H0E faaF/F T0ET N/ i ?

(1) % (@) =M (b) HF (3) (a), (b) 3“&‘ © @ (@) @)fod)

Displacement of Tribals from their iand amounts to :
(a) Violation of fifth schedule of the Constltuhon
(b} Violation of part IX of the Constﬂ'utlon

1'1 '

() Violation of sixth xhedule of the Constltutlon

{d) Violation of the rules of SC and ST Afrocities Act 1989 P

Which of the statements mentloned above is/are correct ?

1 @ Oﬂly 2 (a) and (b) 01113’ (3) (a); (b) and {c) +(4) * (a), (b) and (d)

60.

mummwmmmamﬁmwgﬁwm"a
A i Tt Tt ? S

(1) T ST Afee TEE 1980 HITRT

@) ot stimersa afeen wftee 1985 et

(3) <voft s afeen gfes 1995 fafin

(4) T U wfkwien Reudiede AR 40 3 W9 1996 <@

“Women empowerment as a redistribution of socnal power and control of resources in

favour of women” was defined at :

(1)  the Second World Women Conference'held in Copenhagan in 1980.
(2) the Third International Wornen's Conference at Nairobi in 1985,

(3)  the Fourth World Conference on Women at _Beijin'g in 1995,

(4) 40th session of the UN ; Commission on status of women at New York in 199.
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61. ‘¥ el o weel' W AN w2 |
(a) Tl U T SPTAFTA AR Sed e G- g8 AT A FeAIawt gt o,
! (b) HYO! I WISTF SRR e A== T3 S RS,
: () W uTe St S e T Y
(d) Tl v T RTOTe AR FT ST RS TETa a1 A S

F9
i AR HIoR/FIE faur/ A Tl o/ ?
(1) (2) ) (@ S O)FR (3) (@) () FH (4) (@), (b) ()

The “Beti Bachao Beti Padhao (BBBP) aims to address :

(a) The issue of declining child sex-ratio through a mass campaign across the country.
' (b) The issue of women atrocities through social awareness across the country.

() The issue of school drop-out at the primary level across the country.

(d) The issue of malnutrition and adolescent pregnancy through social education across

. the country.
! Which of the statements given above is/are correct ?
(1)  (a) only (2) (@and (b)only (3) (a)and(c)only (4) (a) (b)and (d)

62, o T S SR 3 FHE T [ FOR A R a2

Q) fawm - gaw Age wiRew sEEe
@ wEE - e e
@ W@ - wmdw
‘ (4) o= e

Which one of the following is correctly matched in the terms of objectives of the Nehru
Yuvak Kendra vis. a. vis their programmes ?

] (1) Development - Youth Leadership Trg. Programme

ﬁ (2) Organisation -  Non formal education
(3) Awareness - Social Service

(4) None of the above
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63. AT AL AT Tfean Tie enfeandien Fuwe frgem, didt wfwer, fson, Ssa S aEet
1973 T YFRPTE A} RVl YHTT YT He ? ‘

(1) aTFge (2) CArRERR! (3) TEESrE (4) TApiE

In 1973 which project was started by Baba Amte in Bhan'u'agad for eradication of .
malnutrition, education, training in agriculture and wildlife protection for Madiya Gond |
Tribals ? _ i

{1)  Anandvan (2) Lokbiradari (3} Navsanjivan (4) Lokjivan

64, TEI TN faurFidET HivR FUAT 3T ?

(a) wuTEE Haw G o gEnfes FHen 91 M WeREEs! e

(b) wAEE ik e SEieet SRl TH PR qdee W o

(1) 9 (a) AT IR (2) F=(b) AN AR
(3) T (a) T (b) IFA TR 4) (a), (b) I Ara TER

Which of the following two statements is correct ?
. . (2} Moral values in society and social problems are interdependent.

| (b) For stability of moral values in society upto some extent there is a need for lawless
behaviour.

Answer option :
(l)l Only (a) is correct. (2) Only (b) is correct.

(3) Both (a) and (b) are correct. (4) Neither (a) nor (b)'is correct.
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FEE S ger (Rt-2009 97 STESTeIIET $e B Al ?

(a) wT@rEAr 52% Teaian sar=a 18 =1 aw et foame weie 3Tee, WU W § SThsart
61% 2.

(b) P STETfaaTETIat 45% SATaaE HRAM Sard.

it 6l

(1) 9 (a) (2) F (b) (3) = (@) wFETE
What is not true as per the UNICEF's “State of the world’s children-2009" report ?

(a) 52% of Ihdian women are married before their age of 18 rising to 61% in rural areas.
(b) 45% of the world’s child marriages take place in India.

Answer option ;

(1), only({a) (2} only (b) (3) Both (4) Neither

66.

TGS e [Tl SIST STHvATS  d HTEFHNE, TUaTY areier S8 S
RETIETET WA SR AEACAT 97 1984-85 W WATH 20 g7 Hat . Niaiyswrn
(1) THER Ed P T90d TEFR

2) <. RS AT IFE TA [EHR

(3) T R @ TR T TR

@) i HroE

To create healthy cc;mpetition among the libraries towards building good stock of books
and rendering satisfactory, qualitative library services to the public, Government has started
giving awards to the Best Libraries in each class of Libraries from 1984-85. The award is
named as “ 7

(1) Namdar Gokhale Utkrushta Granthalaya Purskar

(2) Dr. Babasaheb Ambedkar Utkrushta Granthalaya Purskar
(3) Dr. C.D. Deshmukh Utkrushta Granthalaya Purskar

(4) None of these
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(1)
2
(3)
(4)

we] G, HERTE 59

‘Wwﬁr&mm

Identify the logo :

Directorate of Art, Maharashtra State
Directorate of Maharashtra State Education
Directorate of Tribal Education Maharashtra State

Directorate of Knowledge Centre Maharashtra State
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HiiEed svhert € SeRIET Ed Tdia Sl ong fasit T A7 1954 943 Ao, AheH
24 I WHAT W2 et ST T JTdiel T60 S10d. N1 Sheniaad J0RE wh T 3R ?

(@) T 7 foeelt A% vHnE aftreayul 9 fa=n o 3 aOvE A A FEEER T
AFATEE A St 25 Ve Ay Whde TR STl SUdeY ST,

(b) T v ratera Rt A9 v 3 WifE o nfeaTe e T 3.

AT I

1) &5 (a) (2) hae (b) 3) =& (4) wﬁjﬁr

Sahitya Akademy is the Indian National Akademy of Letters. The Akademy was founded
in March 1954. The Akademy recognises and publishes books in 24 languages. What is
also true of the Akademy ?

(@) It maintains a unique multilingual library in New Delhi and similar libraries at its
regional offices at Mumbai and Banaras having books in over 25 languages.

(b) It has its Project Office at Shillong for promotion of oral and tribal literature.
Answer options :

(1) Only (a) (2 Only (b) (3} Both (4) Neither

69.

T AR T fNes eI lassTel Treen ned Hfdew T o
R e |

(1) 1962, 1890 (2) 1965, 1809 (3) 1967, 1889 (4) 1969, 1889

The National Foundation for Teachers’ Welfare was set up in under the
Charitable Endowments, Act,

(1) 1962, 1890 (2) 1965, 1809 (3} 1967, 1889 (4) 1969, 1889
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of Classical Tamil languége
(New)
Answer options :
(1) @-Q)-(A), (b)-()-(C), {c)-()-C)
2 (@-()-(A), b)}i)-(B), (c)-()-(C)
3 (@-G)-(B), (B)-()-(C), (c)-(iid)-(B)
@) @-(ii)-(B), (b)~(iii)}-(C), (c)-(H)-(A)

- MO6 36 JA
70, Sl Seedl o
- A T2 - B S ME-C

(a) g wemFAAim wEAl (i) 08 (A) 31T TR (T 92)

(b) T S T (i) 22 (B) ¥ 25000 (aﬁa;)

(¢) dfe weha e (i) 01 () T 1 WTE FAEF (AEF)
Al T FGHA %5 T T UF A
TEHR (Fa) o R

oiEt e

1) @-@)-(A) B0, (©)-()-(C)

(2 (@-{)-(A) B)-H)-B), (©-6)-(C)

(3)  (@-)-B), (br1)-(C), (e)-(ii)-(B)

(4} (a)-(iD)-(B), (b)-(iii)-(C), (e}-(ii)-(A)

Match the columns : o
Group A Group B GowpC
Name of the Award Number of Awards Amount o

~ (a) Mahwishi Badrayan - (@) 08 - (A) ¥ 1 Lakh each (one time)
Sanman Award for
young scholars e

(b) Bhasha Bharti Sanman (i) 22 (B) ¥ 25000/ (Annual)

(¢) Certificate of Honour (i) 01 (C) T 1 Lakh éack (Annual)

~ to distinguished scholars 5 Lakhs .eac‘l'l one time
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71. MRGWE 6 9T faeafaererd oea, e sE afama (Weadr) favefamad = SR $Ea
fovafaenerd s, w1 faafaacrisms @ @A) ?
(2) s (AaE) freafaared 0, K T & Wi enfee F@m.
b) FE favafaerd 5 A W HOarTE! TR,
vt e ; -
(1) ¥ (a) @) Fa= () @ g @ T
India has 6 language Universities, of which some are deemed to be Universities and some
Central Universities. What is true of these Universities ?
(a) Deemed to be Universities are for the promotion of English, Hindi and Urdu
~ Languages. o
(b) Central Universities are for the promo_tiqﬁ Qf Sanskrit I.Anguage.
Answer options :
(1) Only (a) (2) Only (b) - (3} - Both (4) Neither
72. @ B faAE SR avg 7

 (a) ﬁﬁ@mﬁmﬁﬁwm&a@ﬁm&xﬁmm

W AN AT fafay wdieda S UH WO S aaa frorad a5t @
g urer . |

ﬂ'ﬂﬁﬂ‘ﬁ?ﬂ‘

@ ¥w@ () e @ W @ wEE

Which one of the following two statements is correct ?

ta) Pre-matric Scholarship is a scheme for the Tribal communities.

(b) The scheme plays a role of level playing and of empowerment through education.
Answer options :

(1) Only (a) (2) Only (b) (3) Both '(4) Neither
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. Y 9 faumis S erre s 2

(a) n@umﬁmmmmm@mm

(b) mwmwm BT AT A< F.

waiet I

1) ¥ (a) (2) F9B (b) (3 = (4) THE TR
Which one of the following two statements is incorrect ?

(a)} National Skill Development Corporation functions as a Public-Private Partnership.
(b) NSDC also supports private sector initiatives.

Answer options :

(1) Only (a) (2) Only (b) (3) Both (4) Neither

74.

U FWASR. S I 9 R e gei fawy wed e )Rem
39, 2013 WL & Tl A, Fra o Aeg (MR S Wil 65 : 35 = W
anfor g S Wi 90 : 10 =1 TAOIE) TIRS MR Srde.
(1) TETET () TMTATEY  (3) TANGEL (4 FRITET,

is a CSS, launched in 2013 aims at providing strategic funding to eligible
state higher educational institutions. The central funding (in the ratio of 65 : 35 for general

category states and 90 : 10 for special category states} would be norm based.
(1) SSsA (2) RMSA (3) NASA {4 RUSA

75.

TeEet FvR/AE s wfeT oy e ?

(a) Tgh whasra ferenedt e, Sfan g S 11 9 T wesEaR fheromeda wrewta e/

WWWWWM@WWW%HWW

1.4.2007 SIgA WS Helt el

(b) nsqruaaﬁmzhmﬂmaﬁuﬁmwﬁmmhﬁmwwmm
foraer Ao g et o

i I

(1) () 307 (b) It THID Fea (2)  (a) 3TV (b) S R AR

(3) () TR AR (b) TF M} @) (a) TF AR (b) ST AR

Which statement/statements is/are correct from the following statements ?

(a) The National Merit Scholarship Scheme, the objective of which was to provide
financial assistance to Meritorious students studying from Post-matric to Post-graduate
level in Government schools/Colleges and Universities has been discontinued with
effect from 15t April 2007.

(b)) A New Central Sector Scheme of Scholarship for College and University students
has been introduced during the XI Five Year Plan.

 Answer options :

(1) (a) and (b) both are incorrect. (2) (a) and (b) bc;th are correct.
(3) (a) is correct, (b) is incorrect. (4} (a) is incorrect, (b) is correct.
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76. e oo
- A TE-B
YEERTR AT ATAHR
() ofED it mawiw 6 dEweia R () B e Hen
() o g () T HEpA g
(c) T &et w=m (i) wEra & Frwmerg
(d) " EE, et FHi T T T
@ © (@
1) @) @) @ @
)6, @ @ @
@) 0 @) @) GE)
@ 6 @ O 6@
--Match the columns :
Group - A Group -B
| Nameofthe Award Organisation
. (a)- Awafds to Hindi Authors (i} Kendriya Hindi Sansthan
- ..of Non-Hindi speaking States
(b) Shiksha Purskar (i) Rashtriya Sanskrit Sansthan
() Hindi Sevi Sanman : (iij) Central Hindi Directorate
(d) Presidential Award of Certificate
of Horour for Sanskrit, Pali
- ANSWer ;pl:iﬁll:;s :
@ e @
W @ @ 6 G
@6 @ @) @
@) O @) @ @)
@ 6 @) 6 @
ol WGl O /SPACE FOR ROUGH WORK
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77. fédmad dfys TR Fwa wvaEE) sifwd gifvs T=ATdter faaneisan frsageren
ST ST B T AUt SR SEne ofg ?
(a) & drm fed anfve T Y s srsaraTen g AvarEt SR,
(by T YN ) fresfauren 3 39 fdt v IR sifverd s o vEit IMd SHTar aur
FOEIET 3.
T I :
(1) ¥ (@) @ ¥ (b) @ @@ @ TR

Which one of the following two statements about the objectives of the Scheme of
Scholarship to students from Non Hindi speaking states for Post Matric studies in Hindi is
incotrect ?

(a) To encourage the study of Hindi in Non Hindi speaking states.

(b) To make available to the State Governments suitable persons to man teaching and
other posts where knowledge of Hindi is essential.

' 'Answer options :
(1) Only {a) (2) Only(b) (3) Both ' (4) Neither

78, .ﬁﬁa’ﬁﬁaﬁaﬁwﬁﬁm:ﬂwmh |
(a) oA faawram TR SETES TRIEET 75% SR 34,

(b) Wﬁmmagqﬁawa‘agqﬁaﬂwmmlé%azsaﬁﬁw
Iaa.

it ST

1) F92 (a) ) Fa3 (b) (3) 4 @ TR
Which one of the following two statements is correct ?

(a) The percentage of reservation for rural students in Navodaya Vidyalaya is 75%.

(b) The reservation for SCs and STs in the Navodaya Vldyalaya is mvanably to the
extent of 15 and 7.5% respectively.

Answer options ;
(1) Only (a) (2) Only (b) (3) Both (4} Neither
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79. @S O fAuFiE FvR @ 3R ?
(a) TSI WA P 15 - 35 TSN TAREGA F AR 2.
(b) TR AT STER YT I WA AR 127+ THCA Tk TR He e gEn
40% W& e
(1) 9 (a) (2) F93 (b) @ @) T
Which one of the following two statements is correct ?

(a) National Literacy Mission imparts Functional literacy to neliterates in the age group
of 15 - 35. :

(b} By the end of the 10th Plan the NLM had made 127+ million persons literate of
which about 40% were females.

Ariswer options :

(1) Only (a) @) Only (b) (3 Both (4) Neither

80. memmmqﬁwﬁﬂammﬁﬁﬁﬁw
30 AR A 3 FRER 2014119?_: Tz feell. o1 SamEa s @y T2

(ay mmmmmmwmmmréwﬁwﬁmﬁ.
(b) T I EER TR [oeiad T Ge T FoaE 1 SR

qaid I

(1) 9% (a) @ Fa@ (o) @) o (4 T

Prime Minister Mr. Narendra Modi visited Japan on 30 August - 3 September 2014 on his
first official visit abroad outside Indias immediate neighbourhood. What is not true of the
visit ? '

(a) Japan agreed to cooperate with India in development of Baroda as a smart heritage
city and

(B) to rejuvenate Ganga and other rivers.
Answer options :

(1) Only (a) (2) Only (b} (3) Both (4) Neither
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81. , aqfiy W= doail G e FEoar, TE9al 99
T T TR TS S0 UH AT 1958 el TE et e,

(1) T, s, (9 e, s, o

(3) wepa, R B (4) At T

A Scheme for the Presidential award of the Certificate of Honour was introduced. in the
year 1958 to honour the scholars of . and languages.
(1) Hindi, English, French (?) Sanskrit, Arabic, Persian B

(3) Sanskrit, Hindi, French (4} None of these

82. Tt G FauTIItEY iR v R 7
() ¥ . fan @ wpew ¥ A wide fafay T WS weawi Ta W@ A,
(b) e 4. o @ e @ e o oy st Arriaien TR

ﬂ'ﬂfﬁ‘?ﬂ’{‘_:

() ¥&B@  (2) %93 (b) (3) <= (4) _Qﬂ»‘é?@
* Which one of the following two statements is correct ?’

(a) Vedanta e-Shiksha @ schools is a PPP model implemented in coordination with
various state governments. Ce :

(t) Vadanta e-Shiksha is outside the Sarva Shiksha Abhiyan Scheme

Answer options :

(1) Only (a) (2) Only (b) (3) Both (4) Neither

e HwIMETS A /SPACE FOR ROUGH WORK
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83, e wT -

1)
2

@

4)

@ ® ©
@ O 6@
O @ 6@
@ @ 0
e T

Match the columns :

@
(b}
()

Group - A
Acharya

e-Pathshala

Innovative e-content

Answer options :

(1)
(2)
()
4)

@ ® ©
CRNURNE
O @) @
) @ 6

None of these

43

0
()
i

MO6

T-B

T $-9eH A

TR FHNE IF IR
Td TR ATHFRAE TANER

Group - B
Integrated e-content Portal
In Four Quadrant Approach -

A Gateway to all Post Graduate Courses
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84. WA FHEHT YT A Teiae S 7
(@) WHAITE AMEnE mam s (b)  ww 9E9R

(c) IR = @t (d) <ae o

Tt 3w . '

(1) =& . (2) wwm (3) I (@) e TR

The following programmes are run under : :

{a} NPTEL Engg. Media Content {(b) Talk to Teacher

() A - View Virtual Classroom (d} Spoken Tutorial

Answer options :

(1) Vedant (2) Sakshat (3) NUEPA (4) None of these |
85. e e SRl i SR L |

(2) W (b) T R

(©) wrrea o (d) e frm

hiEt I _

(1} @ (), @D (2)  (2) ¥ (o)

(3) (@), (b) M (c) | @ (2 sf()

Adult Education Programme includes :

(a) Literacy _ (b) Basic education

{c) Skill development (d) Life education

Answer options :

1) (@) @) (© and (@ @ (a)and ()

@) (@) (b) and (0 @) (@) and (©)

86. e 2 FauTiE BoR e a7 |
() T FH AT FIW SIS GF A,
®) 10+mﬂaﬁmwﬁﬁso%ﬁmﬁmﬁ$ﬁmlﬂmﬁammﬁmw

tﬁrungaaﬁgaﬁﬁ
(1) %ﬁla @) 2) T3 (b) (3) I (4) uwE AR

Which one of the following two statements is incorrect ?

(@) Operation Black Board Scheme was introduced at the instance of Kothan
Commission. |

{(b) 50% students at the 10+ stage should be diverted to vocational education was
suggested by National Educational Policy 1986. :

Answer options :

(1) Only (a) (2) Only (b) (3) Both {(4) Neither
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U Fo faemd TTeaH fSUat 2002 7o IRA SRR UHH el S &4 i
o7 ST WAL arg Yiqde <o sfde snfn St foswarafar afaeta, Ao
SYINE, TUET WU, BEW S famaviel SvaEhiar ST SEA gAdial 9wt
3T GATSTEIOTS UM ES RO AT HIOAR AU TAHEE g8 FI0 TR,

(1) susmid (2 AdsmwmdE @) dimand @) camsdld

The Ministry of Human Resources Development launched in December, 2002 the

which aims to upscale and support ongoing efforts in improving quality of
technical education and enchancing existing capacities of the institutions to become
dynamic, demand-driven, quality conscious, efficient and forward looking, responsive to
rapid economic and technological developments occurring both at national and

‘international levels.
'(1) BAIET (2) TEIQP (3) TEQIP 4) AICTE_

88.

S+ ferd o S . T

(1) 6,33 () 64,2 3 624 @ 6,51

India has _________ language Universities, out of which ________ are Deemed-to-be
Universities and - are Central Universities. ,

1) 63,3 @ 642 @ 624 (@ 651

89.

gﬁnmﬂ‘tu@aqﬁﬁa@aﬁ@@{l}ﬁﬁw @hmmwnﬁaﬁmm@?ﬁﬂu‘@awﬁ
foamd® o wia e, A HEiaad E WY e ?

(a) U T e Ty, ﬁﬁnmﬁmmmammﬁwmammmﬁrm
? @ oeg s@e.

(b) awmﬁaqﬁwnéadmamamﬂammw

‘ (1) aﬁss(a) TR ¥uw (b) 3 e (4) TFE R

The Indira Gandhi National Open University (IGNOU) has been making conscious efforts
to reach out to the girl learners especially in remote rural areas. What is true of its

“activities ?
(a) The setting up of a New School. School of Gender and Development Studles with

. the aim of achieving gender justice and equity.

(b) The School designs and develops academic programmes and courses at
undergraduate and graduate levels.

Answer options :
(1) Only_(a) (2) 'iny (b) (3} Both 4y | Neither
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@ra < faumideT S @R R ?

(a) ¥d T I UG el WEH F wﬁmwwgﬁw@ml%gnﬁwm
T T .

(b) ELUA. TSHE TYA TOEH .

(1) %% (a) (2) F9@ (b) @ o (4) T R

Which one of the following two statements is correct ?

(a) The Directorate of Art (DOA) was established in the year 1969 for handling all art
institutes and colleges of graduate and post graduate level in Maharashtra.

{b} The First Director was V.N. Adarkar
Answer options :

. 920

(1) Only (a) (2) Only (b} (3) Both | (4) Neither
91. TR MIRA B SIS Feld He1 Hie frew wrRiw o A Faw Fa g A 2

(2) o1 A 3 70 TS W 2017 wa HWeR S AR,

(b) T 15 TS Fa AR 53% RATET AiwEE arg 2 fog .

T I ) |

1) +% (a) 2 %@ (b) @ T @

Sakshar Bharat is the world’s largest literacy programme What is not correct in this

connection ?

(a) The programme aims at making 70 million adults literate .by- 2017.

{b} Only about 53% of India’s population over the age of 15 can read and write

Answer options : )

(1) Only (a) (2) Only (b) (3) Both . (4) Neither

i A e SR g o ?

(a) WWEWWmlmmuwm ST,

(b) I THETIR T aﬁ6-14mﬂamamm 9 IuR Wt fago faa,

ot I

1) F9B (a) @) =S (b) 3) <= 4 T

Which one of the following two statements is correct ? o

(a) The right to children to free and compulsory education act has come into force from
13t April 2011.

(b}  As a result of this right every chllcl in the age group of 6-14 will be provided 9 years
of elementary education.

Answer options :

(1) Only (@) ) Only ®) (3) Both | (4) Neither
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93. Sl a3l :
MT-A T=-8B
(a) WHISIiTa 3 ke () A A0 ATHEe et
(b) WA ATHEEA/ AT () SAEEHS it s s s
fregor

(¢) wHIstIwa. =t e (iii)  FErerome Tl gamon
(iv) T FIO gl

(vi) S Sewia fameria ﬁmﬂ:ﬁaﬂw

FIE0L.

Taigt 3 :

(2) (b) ()
1) @) vy @DAv) (idi), (vi)
2) @), (vi) @) () ©)
@y @), ) @69 ) (V)
@ (i), @) @iy ) (i)
Match the columns :

Group - A Group - B
(a) Objective of NPEGEL (i) Dropout girls

(b) Target Population/Beneficiaries (i) Vocational and Life - skill education
(c) Unique features of NPEGEL (iii) Improve quality of education -
' (iv) Working girls

(v) Incentive for girls to attract them towards
education :

{vi) Reduction of gender gap in education sector
Answer options :
@ ®) (©
1 @ @) 0O (i), (vi)
(2) v) (i) )G (@) @)
(@) ), (i) @) () W)
() G, @ @) )
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S S S QI SNPGRS _ e
_ HA i, AW ORI T Hiewr s e W

(1). H=YEW, 1847, T8N, AT AHTT
(2) WERTE, 1847, MY, ST e
(3) W WY, 1847, THL, ST W
(4) feoelt, 1847, fawelt, SoR TN

* "The first engineering college was established in _ : in for the training

of Civil Engineers at which made use of the large workshops and public

buildings there that were erected for canal. :
(1) Madhya Pradesh, 1847, Indore, Upper Narmada

- (2) Maharashtra, 1847, Nashik, Upper Godavari

(3} Uttar Pradesh, 1847, Roorkee, Upper Ganges
(4) Delhi, 1847, Delhi, Upper Yamuna-

95.

aniihgeea 9 & g9a TeEe fRAE 25% Taeret WA Wiesd Y fean
.

(a) e faerem (b) Taiga faenea

(¢ & e () T sgafE W

() TISH TTEWTEN WeA o |

vt

1)  ®) ). (d) () @ (@) (b) (o) (d)

3) (@) (®) (), (d) (¢) o (@ @y (k) (d), (o)

_ type of schools 'a_dmit at least 25% students from the.disadvantaged and
economically weaker groups.

(a) Kendriya Vidyalaya (b) Navodaya Vidyalaya

. (¢)  Sainik Schools (d} Unaided schools

(¢) English Medium Schools

Answer options :

1) () ), ) (@ @ @ ®© @
(3} (@) ®) ) @) (&) @ (@) O), @) €
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96, @il e f9ER &

(a) BeAT JAREE iEATed 28 A0 996 oTRa.
(b) Tearaede & AT FE=n 5= < Q.
w3 - ”
(1) () S (b) ST A

- (2)  (a) IF HR A (b) T 3.

(3)  (a) TR T (b) I[F AR.
(@) (a) 3l (b) R 9F AW
Consider the following :

(a) At present there are 2§ member countries in the European Union.

(b) Switzerland is a member state of the European Union

~ Answer options :

(1} (a) and (b) are correct
(2} (a) is incorrect and (b} is correct
(3) (a)is correct and (b) is incorrect

(4) (a) and (b) both are incorrect

. 97.

anfor %m@ﬁ@ﬁmmﬁamzmwm‘

(1) ¥, e (2) I, AE
(3) R, HRwE (4) WA, SfeEn
and are the biggest and the smallest countries in the EU rby" surface
area respectively. '
(1) Spain, Luxembourg {2) France, Malta
(3) Germany, Cyprus (4} Sweden, Belgium

| TS HIEE WA /SPACE FOR ROUGH WORK
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(a) TEIA AN, 2005 W HAG GHA Hal.
(b) G STTEEER 26 SRR, 2006 TEA TE . .
() FTERI TR FW FT Geea! et G <@ feadier A el S 9 90 feawien
AW W Frerema Feen wsd. :
(d) R Tl AR W e S,
AT ‘ P RN T HRmeT - 2005 Ted FhEtw! B fGuH e w2
(1) (a) 3 () 2) (a) o (b) (3) (a) 0T (d) @ (o) s (d)
{a) The Act was passed by the Parliament in August, 2005.

{b) The Act came into effect from 26 October, 2006.

(¢) The Act ensures that the first hearing would be held w1thm 10 days and the case
would be disposed of within 90 days.

(d) The Act is enforceable in the whole of India.

Which of the above statements are true about the ‘Domestic Violence Act - 2005 of
India ?

(1) (@) and (c) (2) (a) and (b) (3) (a)and () 4) (c)and (d)

99.

WA T 2004 94 T 1= R W.(ARDW-@WWW
Tegued Friaa w2 2 o, geiet 4 fauritet Son Aredia s aie ?

(a) WRA IR faw e W@W'ﬂmmﬁiﬂm
(b) TF 1999 T TR/ @Y FEFTHA AN/ (S =4 SRTE 3 TG A

FE W TSET .
RERIELIE |
(1) 9 () (2) ¥ (b) @ @ @ R

The trend of annual AIDS deaths is showing a steady decline since roll out of the free Anti
Retroviral Therapy (ART) programune in India in 2004. Which of the following two
statements is incorrect in this connection ?

(@) Indiahas the third highest number of estimated people living with HIV in the World.
(b) Since 1999 there has been a shift from HIV/ AIDS awareness to behavioural change.
Answer options :

(1) Only a) (2) Only (b) (3)  Both - (4) Neither
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100. EIETATH! Hivid Fas SH&T T 7

(1) YRAKIA WFE! S9Tea] Fadcien ettt (1975 - 77) Fa Tt frml.

(2) Wmmwwm%ﬁwmm@mm
3) Trreg gfem ok fofea faadia of< Tishdla Tams! TT Sam@ Tee Fe.
(4) T HET ? 1984 4 1986 W FIW vy I ® fafen faaeioy sieas g,

Which of the following statements is not correct ? |

(1) Human Rights movement in India got momentum after emergency (1975-77)

(2) Peasant struggles, Dalit movement, Environmental movements are parts of the
Human Rights movement.

(3) People’s Union for Civil Libertles and Democratic Rights was , established by
Jawaharlal Nehru.

(4) Rajani Kothan was the Premdent of People s Umon for C:ml leertles from 1984 to
1986.

101.

Y darg Yo% TrST [HE! Tead.  qreHid S S a3 7 -
(a) mauammamwmmm |

(b) mﬁammawmmwﬁ(zm@wmﬁsmﬁm aqfwﬁhmaarq.
Y991 JoE! gsad. -

mw:

1) F@ @ F@( @) @ (4) T
Tobacco is a masswe k:ller, killing half the people who use it.

: What is.also true in thls connection ?

(@) India is the largest consumer of tobacco in the world.

(b))  As per the report of the Tobacco Control in India (2004) more than 8 lakh people die

due to tobacco consumption every year in India.

Answer Options :

(1) - Only (a) (2) Only (b) (3) ~ Both (4) " Neither -

T FHTEE A /SPACE FOR ROUGH WORK

P.T.O.




MO6 | 52

102. V&AM TAGIE! Hiorea Wi wiean T fzard fagdist && 1 ?
(a) I (b) mfEwT
) <R emfem (d) st
() WA qd-aTivwE
drg qaig frae
(1) (a); (c) 3nfor (d) (2) (b) 30 (e)
3) © = ) @ (), (d) S (o)
Where is Female Genital Mutilation concentrated ?
(a) Europe « (b} Africa
(¢} South America (d) Australia

{e) Middle East Asia

Choose the correct option :

@ (@), (© and (d) (2) (v)and (e)
(3 () and (e) @ () (d)and (¢)

103, ‘AL =T’ 9= TRerda! v fG9H sET @2
(1) 3T 1946 7l ‘oo <meE’ <t snm Haei.
(2) I AHEEER 15 e ST,
3) qurahnw wE HEd 9 Fuidt F.
(4) TE I e TERT w19
Which of the following is not correct about the ‘International Court of Justice’ ?

(1) Tt was established in place of the ‘Permanent Court of Justice’ in 1946

(2) It consists of 15 judges -
(3) The tenure of a judge is of 9 years
(4)  All the judges are elected by the General Assembly

FHoeT RIS S /SPACE FOR ROUGH WORK
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104, 2014 >0 Ol faem fdmie wevla oo &1 -

- ©

(@) T @ .0.891
b) T (i) 0.901
S (iii) 0.888
(d) sfo =i (iv) 0.890
i TN
(ad (b @ (@
1) G @@ v) @
(2) @ @ @v) (i)
@Gy Giy @ @ @)
@ (v) @ @ @)
Match the following as per Human Development Index of 2014 :
(a) Singapore (i 0.891
(b) Israel (i) 0.901
{c) Japan (iii) 0.888
(d) South Korea (iv) 0.890

Answer cptions :

@ B @ @
@ @ vy 3§
@ @ @) ()
@) (@ @ @)
(v) (@) @ (i)

(1)
(2)
(3)
(4)

105.

AL TS TR A

(a) BT HEY TEAE TR G FET U W

(b) US4 ATE TS AERTEIA TGS e et wmr giadne o sReisEt
F9e Apaude fatt vy Y= wwen F6a.

TRITETE RV 9Na 7Y .

TET A 79 AT a e ad faymist S faurs aat a2
(1) (a) SF (b) 2) ) %\ 3 ©wH (4)
The National Human Rights Commission (NHRC) can :

{a) involve voluntary organisations in investigation process.

(b) the committee which recommands persons to be appointed to the NHRC comprises
amongst others the leader of opposition from the Lok Sabha only.

()

(c) 3nf (a)

(¢} complaint to the NHRC may be in Hindi, English or any language in the 8th schedule
of the Constitution of India. _
Which of the above statements about NHRC are not correct ?
(1) @and(d) (@ ()only (3) (o) only (@) (0) and (a)
FHeedl HHEE IAT /SPACE FOR ROUGH WORK
P.T.O.
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106, ‘TR AR Heaw sifufad 1955 WRaWE S st arfss woe friae @ ?
1) FemRTm (2) T g
(3) IETTEAT @ F T

- Which of the Indian antisocial customs is eradicated by the ‘Civil Rights Protection Act
1955" under the Indian Constitution ?

(1) Bonded - Labour Tradition (2) Child - Marriage Tradition
(3) Untouchability (4) Sati-Pratha

107. Wﬁmﬁaﬂm
(a) 'TrETiEt Yy’ ﬁﬁﬁﬂémmwﬁmwamaﬁ
{b) H@ﬁzm4mawhl75mamﬂmawm%w

(c) IRETe 100 YoY 38 T W T,
) 175 Fomed wmr 85 1 Wi fHal.
() TacEs WTeam ﬁlmat e,
() Sl ey et e,
- alfteriet HivE fau AR SR/ e 7 |
m e @@ @@ W
Consider the statements about corruption

(a) Transparency International’ is an institution measurmg cormphon in different
countries. SITTT

(b)  The institution studied corruption in 175 countries in th.e;year.;_2014, _
() India obtained 38 marks out of 100. T
(@) India secured 85t rank amongst 175 countries,
(e) Switzerland is the top most -
(f)- | Tiie bottofn Imost is Somalia.

Which of the statements given above is incorrect ?

M © @ © ® @ @ 0
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108, (a) T~ TIHWIT AT A T FI0ATS TUFR 08,
(b) TIETHR T ATIRTErea & <= GHai 3T =amamerd T H3.
(€) TIETHR AfugaAgN 19 =Ararerd T4 Fd.
(d) WoIs WIE 5 AECHEERA TFEER T @R odia (e $@ fhar afsar
Frph 0 %1 Remm o6 ot 9 IR
RATE AIE] §9 =ATaTeaiere akierie! HivR faum Ter e ?
(1) (®), () (d) 2 @ {9 W) @) @, @), ) @ @ 0 ©
(a) State Governments are empowered to establish such courts.
{b) State Government establishes the courts with the concurrence of the Chief Justice of
the High Court. :
(c) State Government establishes the courts by notification.
(d) For every Human Rights Court, the State Government specifies a Public Prosecutor
or appoints an advocate who has been in practice for not less than 8 years.
Which of the above statements are true about the Human Rights Courts in India ?
M GO @ (2) (@) () (d) @) (@ b)) @ @ o) ©
109. TAFILE TUTLAT T e fedat 11, 1946 Usit frrfor Fedean gFRAwaEa F@ @ e ?

(1) IFEw vers ffaw geestaes Fefas To A 9e SR S 1946 - 1950 TR
AE T

(2) IFEE FIS IS MEAHIT T TR RIS @ fsft fivssfaa,
(3) TRE @ Frageen e IFaw el tee T aa.

(4) 0% TH T

What is not true of the UNICEF created by the United Nations General Assembly on
December 11, 1946 ?

(1} Ludwik Rajchman a Polish bacteriologist, is regarded as the founder of UNICEF
who was also the first Chairman from 1946-1950.

(2) UNICEF solely relies on the contributions from the various Governments and private
donors.

L1

(3) The Executive Board is made up of representatives elected by the United Nation
General Assembly.

(4) None of the above.

ol HIATEIS W /SPACE FOR ROUGH WORK
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110. WAd IREI= f59R FE 3a¢ fow
(a) uferrTs T 1967 HEd e,
(b) TRt 2001 =t Rog FAE I Tl
() IRA T GEAIIT Wew R,
(@) U S wiveed A A9 AR,

TR I .
(1) (a) 3 (d) SIS A=A () (a) 30 (b) TAT SIRA,
(3} (b) 3T (d) TR TR, (4) 4 9% A

Consider the following :
(a) ASEAN was established in 1967.

(b) ASEAN summit of 2001 was held at Brunei.

(¢) India is a member of ASEAN since the beginning,

(d} Central Secretariat of ASEAN is at Singapore.

Answer options : L

(1} f(a) and (d) are correct (2) (a) and (b) are correct
(3) (b) and (d) are correct (4) All are false

111, ' Ny sfhd G921’ a@aen fagma =R & -
() ‘ST Hire WoeY’ I Tra wifge=an FRrTHr e,
(b) YA T TLHEAM FER Bl
(¢ freht o1 anfir i ‘fremfewan wifeTrama’ T FIvam STt 1.
(d) ‘STRCEsH’ = Wi ‘ S afvs Fafaa’ wuma.
(€ T i &7 wiwwed AR,
lierta T faurt s TR/ 2
(1) () 3 (b) (2)  (©) 3 (e) @) (a) 30 (&) @) F3 ()
Consider the statements about ILO’ [International Labour Organization].
(a) Tt has been established as a result of treaty of Madrid.
(b) In the beginning it was attached to the League of Nations. - _
{c) - It's aims and objectives are specified in the ‘Philadelphia Declaration’,
(d) The secretariat of ILO is called “International Labour Office’.
(e) Its training centre is in France,

" Which of the statements given about is/are incorrect ?
(1) @and () ° (2} (c)and(e) (3) (a)and (¢) (4) Just{e)

TS HTAIETE WO /SPACE FOR ROUGH WORK
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T TS e ST R gt it S e weve o 2
(a) T A T SRR Pt SaHN fom At S e fad s,
(b) RN SreayTe S Hewris] 00w RErS TS| Hw.
(c) ¢ wfawmfre ==om e,
(d) . SeTaTeR § AETR ufee deas 8.
it I | 1
1) (@) 3 (b) (2) () = () 3) (o 3 (d) 4) (a) 30T ()
Which of the following statements about the National Human Rights Commission are
wrong ?

(a) The protection of Human Rights Act lays down the rules for appointment to the
NHRC.

(b)  The chairperson and the members of the Commission are appointed by the President
of India.

{c) It is a Constitutional body.
(d} Justice Venkatachaliah was the first Chairman of the Commission.
Answer options :

1§ @amd®) @ BadE ) ©amdd @& @and@

113.

FTA I IR, sead (WAA.) F@ e TR ?

(a) TR T BT, |

(b) =TT e SOAFN g“l?\qm iﬂﬁ

(c) THF WEF @ IO FEA I

(d) =% sl s e wfedt,

e Rl TR /e,

() e TaHIH T,

T I |

1 «© 2 @ 3 @@ @ ©
What is not an objective of the Nahonal Book Trust, India (NBT) ?
(a) to produce good books. |

(b) to encourage the publication of good books.

(c) to make books available at moderate prices.

(d) to arrange book fairs and exhibitions.

(¢) to maintain exhaustive libraries.

(f)  to make the people book minded.

Answer options :

1 © 2 @© (3} (a)and (d) 4 ®

Toel WINTETS AT /SPACE FOR ROUGH WORK
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114. ‘gﬁﬁtﬁ' (FgaHT e e SRRl F4t) Ared=ar 6 W 9 T o seed o 7 A

ot . |

(@) AT wWdad Taa TITﬁﬁfﬂ'm" RIS el

(b) ‘AFAE’ R HE GO FEA T .

(c) R * ST’ it ¢ STt § W .

(d) STETRTOAT FeRRTO BRI TG WY TG SAET Hrafee.

i I '

@ (B © @

W @ @ @

@ @) @) ® @)

Gy (v} ) G (i)

(4) (@) @) (v} (@

Match the facts about UNICEF [ United Nations Children’s Emergency Fund ] with the
years in which they happened :

(a)
(b)
(c)
(d)

UNICEF awarded the Nobel Peace Prize
It was established bearing the Title "'UNICEF’

Terms ‘International” and ‘Emergency’ excluded from the Title

‘Responsibility of implementation of children’s rights entrusted

to it by the General Assembly of United Nations.

Answer Options :

1

(2)
3
1)

@ ® © @
O @ @ @
@ @ 6O 6
{iv) (1) (i) (ii)
@ @ @ o

() 1946
Gi) 1953
@ii) 1989
(iv) 1965

Tl HINHE WA /SPACE FOR ROUGH WORK
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aﬁﬁ?ﬁwﬁaﬁﬂﬁiﬁﬁr—rmmaﬁ?
(a) HP TEE TV, T, Fd, Trear Ao & AT €.
(b) W%WWWW
(© ﬁ%g@mgwﬁﬁmmam%ﬂmmﬁwﬁaﬂﬁmaﬁ
@ TR, TpeneR @ e A ween dreeh.
(e) .'aﬂﬂmmﬁw%wﬁﬁﬂwmmﬁﬁwmﬁwﬁﬁﬂhmwm%
Tt 3T :
» @ @ B @
Which of the following statements about OPEC is incorrect ?

(a) The original members of the organization included Iran, Iraq, Kuwait, Saudi Arabia
and Venezuela.

(b) Later nine other members joined it.
(¢} Its headquarters first at Geneva Switzerland was later shifted to Vienna, Australia.
(d) Indonesia, Ecuador and Gabon left the organisation

(¢) OPEC does not raise the crude prices without reason and without consulﬁng oil
producing companies. :

Answer Options :

Q O (2). (d) - (3) (e (4) None of the above

116.

‘A g9 OIS S ‘TR SETAE € HEeT el Sgfee HYTaTEel ihy AR

(1) qSFen=Et gEn (2) TR TFRES W

(3) TR | (4) e wd

‘Amnesty International” organisation is working in the field of ‘Human Rights for : -
(1) Releasing war prisonars (2) Stuggle for Political Rights

(3) Prison improvement (4) All the above

HeeAT HTHMESE 9 /SPACE FOR ROUGH WORK
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117.

TTET = fS= &1 :

(a) &Y FeFHTe AAfdH TERATAN THUT 30 FAH 3Ted.

O @aMETRTE @) (@ ) I T T
(3). (a) S (b) ¥ 3. wmmwwm_
Consider the following statements ; '

(a) There are 30 articles in the Universal Declaration of Human nghts
(b} As per article 5 everyone has the nght to hfe,. llberl:y and secunty

Answer Options : :
(1} (a) and (b) are correct (2) (a) and (b} both are wrong

(3) (a)is correct (b) is wrong - (4) (b)is correct (a) is wrong
118. ‘<o AR SRt €' (@qsﬁﬂ) mmfamﬁmm

(@ ‘ud %afmmﬁmﬁi@ﬁﬁm?cﬁwﬁmﬁaﬁ

(b) EUTTT 3. 2000 HEA FIOAW ST,
() T, Ui, A9 3N FieTew WU, WES IR,
(d) TEYE.F, I e afls Fewm smw -

it S ) W ka2
@ (@) &) 3 (d) @ sy
3) FF (c) I (d) - @ wd —

Consider the statements regarding SAGQ. [South Asian Growth Quadrangle]; IR
- {a) SAGQ has been established by SAARC.- -

(b).. Tt was established in the year 2000, _ SRR _
{¢) India, Pakistan, Nepal and Bangladesh are members of the SAGQ
(d) The objective of SAGQ is economic development. '
Which of the statements given above are correct ?

(1) (@), (b) and () (2) (b)and () only

(3) () and (d) only @) Al |

HoEAT FWTHG WO /SPACE FOR ROUGH WORK -
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119. 9RaT=m ‘ UL THaETHHT P’ ﬁwwwﬁvﬁaﬁwﬁwﬁm TS WA
HoATE SR’ feden AR 2
(1) SR 129 (2) +FHI1Z2HA (3) HH12FH 4 HTHI12ZE
Under which section Indlan ‘National Human Right Commission’ has been given power
of “Suo-moto” Enquiry against a public-servant ?
(1) Section 12 B (2) Section12 A (3) Section 12 C (4) Section12 D
120. & 2 fauMidst Ho g w2 |
(a) IS FHRE ATw T to B T facaaensd 1864 96 A,  TSHA T
(b) THW IHMEE]/(GH FrFHAE Tafer.
it I
(1) ¥93 (a) 2 ¥ (b) @) = (4) TETE
~ Which one of the following two statements is not correct ?
(a) The International Committee of the Red Cross was established in 1864 at Switzerland.
The Red Cross attends to the (war) victims and the victios of the natural disasters.
(b) They also organise HIV/AIDS programumes.
Answer Options :
(1) Only (a) @ Only() - (3 Both (4) Neither
121, & SR (Sfaay a fraeT) S 1986 3 SV ML wooe &l ? -

(2) wht 7 TR 8w A W b) faftsa 9 Fm (e @)

(¢} 3T I 9@ FH (d) fagidwia 1 3@ gi= siqve
it 34
1y w 2 @FwmE (3 (2 A (b) @)  (a), (b) A (d)

What are the prohibitions imposed by Child Labour (Prohibition and Regulahon) Act
1986 ?

(a) Work between 7 pm to 8 am (b) Over time working

() Work for more than 3 hours (d) One hour interval for rest

Answer Options :

(1) all (2) allexcept(d) (3) (@and(®) = (@) (a), (b)and(d)

THEEAT FIHEE 9 /SPACE FOR ROUGH WORK
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122. GTRAAIH SR/ FIRE fGuH/fFam SRrER TR/ a2

(@) TV YA QT T AR Sl o U Ao @ 1992 IR T
S| AT ST THIcHE HAHAE AW L.

(b) T T TG Pl 969 e 2007, FEGeiEr A <@ faanm 7 S 65 af

(© T TR T e i 30 i s e et WA S 60 ad s
AHHEIS TH TRV ARG 7 <56 794 e,

it I
(1) % (a) 2 (), ®)AE) 3) (2 () (4} T (b)

Which of the following statements is/are correct ?

{a) Objective of an integrated programme for older persons implemented since 1992 is
toimprove the quality of life of senior citizens by providing them with basic amenities.

(b) New National Old Age Pension Scheme for all persons above 65 years of age,
irrespective of their economic status is being implemented since 2007

(¢} UN defines a country as an ‘Ageing Nation” when the proportion of elderly
- population over 60 years of age reaches 7% of the total population.

Answer Options : _
(1)  Only (a) @ (@ (Band () (3) (a)and(q) (4) Only (b)

123. maﬁwmmﬁwwﬂaﬂamﬁﬂﬁ :
(a) Toraror =] SvarrEY fasrgt
b) TER/AEATTF ST NHIHE 3.5% S
LD ik
1) (@) %= @ (o) ®R @ o (4) T
Programme for the rehabilitation of the handicapped includes : '
(a) Scholarship to pursue education -

(b} Reservation in the Govt./public sector to the extent of 3.5%.
Answer Options :
(1) only (a) ) only (b) (3) Both (4) Neither

TR FIHTETS AT /SPACE FOR ROUGH WORK
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124, YETAYSRT SO AU/ S TS 38 ?

" (@
)

(€)

o Waﬁwmﬂwmﬁé@wﬁw A = w0, G e

Sufge g w0 fifeg am.

Grﬂeaﬁrqrcltrﬁmﬁaﬁ Sfetai, wﬁmsﬁammnémmﬁmww forarm,
Y, Hﬁ?ﬁi’fq@ﬂﬁmuﬁma{g%ﬁﬁmﬁ

T Heafores SR 1986 91 3€2Y, 6 1 11 T TUNRMIA 75% Sieid srershidt Fof e &
11 9 14 9§ SaFeEe 99 Tfera seeni=n Aigol gio, 31 e

Tqidt S

o

(2)

@

@

ﬁan(a)awﬁ(c)qagwﬁa?waﬁ.
ﬁm(b)wﬁgwﬁﬂﬁﬁaﬁ
%mﬁ(c)wﬁgwﬂ?ﬁwaﬁ

R R geeie TR L

Which of the following statements need correction ?

@

()

(©)

The vow given by Dr. Babasaheb Ambedkar to his followers, forbade them from
stealing, telling lies and committing carnal sins.

Dallts are segregated inall spheres of socnal hfe plaees of worslup, educahon, housmg,
land ownership, though not officially. P

National Policy on Education 1986 aimed at univérsal enrolment of 75% dalit children
in the age group of 6-11 and enrolment of all the children in the 11-14 age groups.

Answer Options :

(1)
2)
3)

@)

Statements (a) and (¢} need correction
Statement {b) needs correction .
Statement (c) needs correction

None of the statements needs correction

HoAT HIHEA 9T /SPACE FOR ROUGH WORK
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125. ¥ sfem (HAI) ae@ S/ @Y AR ?
| (a) Ferft T 1978 weA =i,
(b) o= 9 SIS (T Fe,
() W TS A T 9 nfw TR 3.

(d) gsme frafsa, 3¢ 3y, 38 TBRIT, FHEFT 98, SAfafwad=n aEmre 38 T
TR

(e) T TS IuTFN TTd T G0 I HoeA ASWIE Fd Ham A 9gq [aad
() T eIy TEt et 39 IR
(g) fo=n v Heg, o, waw, feeh, devar 9 95w 39 oRa.

T I
(L) (b) 2) ()
3 (9 @ e

What is not correct about Helpage India (HAI) ?
(a) HAI was established in 1978.
(b) It was born out of the initiative taken by the British charity.

() Tt attends to the elderly people and also undertakes funding.

(d) The aged include destitutes, the aged blind, the aged leprosy patients, the aged cancer
patients and the aged patients in the geriatric hospitals.

{e) It helps individuals and also provides funds to the organisations workmg for the
elderly people.

(f) TIts head office is at New Delhi

(g) Its branch offices are at Bombay, Bangalore, Calcutta, Delhi, Hyderabad apd Madiras.
Answer Option : |

W ® @ @

® (e (4) All the three above

HoAT TR W /SPACE FOR ROUGH WORK
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126. 3TTHfAT SIS R FLOWAT UG T :

(a)
(b}
(©)
(d)
(@)

W SR da HH, T4 T

freafirdt enfeemet e wee N, it (qHETs)
el feremdta (Tt

g fiew, fomm

it 36T

1)
2}
3
@

(@), (b}, (d) faem 9ra sTRa
(), (@), (¢) faum =z sma

@), (b), (d), () faum @ra e
(@), ®), (c), (d) Taem Fwa smEq

Prominent Organisations working for the scheduled tribes are : -

(2)
(b)
(©)
(d)
(e)

Bharatiya Adimjati Sevak Sangh, New Delhi

The Nilgiris Adivasi Welfare Association, Kotagiri (Tamil Nadu)
Samatol Foundation, Mumbai

Banasthali Vidyapith (Rajasthan)

Ramakrishna Mission, Shillong

Answer Options :

(1)
(2)
(3)
(4)

(a), (b), (d) statements are correct
(c), {d). (e) statements are correct -
{a), (b), (d), (e) statements are correct

(a), (b), (c), (d) statements are correct

HSAT HIHES W /SPACE FOR ROUGH WORK

]

P.T.O.




MO6 66 A
127. 37O SR e 1995 TAR YTEEAT™ 6o HIVH HRd 7

(a) 3T A A HERAE, TAHF 3§ FATHEw =41 WAl IR qdd WEE=eard & q
feavary wam .

(b) 3TN SEfaA™ YTEET 1 {AT FH SO T os5h FueAN 314 Hgred Jau.

(¢) rum ufeT @i=n W, Fagaaatd, qemagath, TAfae fdar amfaes saimsd=
FiF TR WA o df Tdel F1aH SavaTE WaiH 0,

(1) (@), (b) 3 (o)
(2) ®F ()

(3) P (b)
4 HK (a)
What is the aim of Rehabilitation as defined by Persons with Disabilities Act 1995 ?

(a) Enabling persons with disabilities to reach and maintain their optimal organisational,
structural and functional levelg

(b} Providing financial assistance to NGOs, working in the field of rehabilitation of the
disabled persons.

(¢) Enabling persons with disabilities to reach and maintain their optimal physical,
sensory, intellectual, psychiatric or social functional levels.

Answer Options :
(1} (@), (b) and (c)
{2} Only (c)
| (3) Only (b)
(4) Only (a)

HoAT HITETSE AT /SPACE FOR ROUGH WORK
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A
125, st e s S s A o A Fn S i o
EEER : -
() T Fiu femsiifad s 1994
(b) Fomer wf<q ﬁuﬁzﬂqﬁa‘z 1987 |
(c) Hed %w FHae 1987
(d) TEEeTE Rt aiw giear sfae 1992
ST RO SR HTEd TIEHUT TSTT HIONE HAQ
(1) ®) (&), (@) (d)
@ ®@ @ © @
@ ®)© @ (2), (b)
(4 @ ) © @ - (@), (), (), (d)

Which of the following legislations contain rights of the disabied persons and which provide
safe guards to the disabled persons ?

(a)
(b}
(¢)
()

1)
(2)
(3)

@

Persons with Disabilities Act 1994

Legal Service Authbrities Act 1987
Men'tal He"alth Act 1987

Rehabilitation Council of India Act 1992

Acts containing rights Acts providing safeguards

®) @), © (@ °
), (@ @ (© ()
OO @ @0

@ &) ©) @) @, (), © (@)

HeAT HIWE AN /SPACE FOR ROUGH WORK
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GRIEdR! FIVR/ S0 faam, faym siem o)/ R ? -
(a) FeaEREE T faa veidt mfeed SR wateai 20 wd i ST SeTERE
.

(b) T G G YRS Sl ST e et wifed 30 orifia o

(¢) Sireifie St Erordt SEFTIT AT Fraieraen oven R wRiH it 3% enifiE AR,
@ m%ﬁmmmmﬁmwﬁmmmwﬁw
TEiEt wifedt <0 STufHa S

i I
- () ¥ () (2) @ () A (d)
(3) FaS (a), (c) AN (d) (4) ¥ (a) MU (b)

Which of the following statements is/are true ?

(2) Tt is obligatory for all the Public Sector Units to register their vacancies with
employmient exchanges.

(b) Entire Private Sector is also expected to register their vacancies with employment
exchanges.

() Industrial Sector Private Units are expected to reglster their vacanciés with

. -employment exchanges.
(d) Those non-agricultural Units in Private Sectors having more than 25 workers are
expected to reglster theu' vacancies with employment exchanges

- Answer Options :

(1) only (2 ) only @ and (@
(3 only (a), (9) and (d) (9 ony@and()

130.

Trftor St Risen § AT fFER (DWCRA) 9190 &1 @Y Té 2
(1) & A5 §9 1982 HEd Gl T 9@ (IRDP) FrFHaa & wel,

) mmﬁmmﬂﬁmﬂaﬁmmﬂmﬁﬁﬁwmﬁﬁmmmﬁfmmﬁwﬁa

AR R,

KS) mtﬂaﬁmm@@maﬁﬁﬁamﬁaﬁ(wﬁ)aqﬁmﬁaﬂsﬂ)ﬁﬁmgm

L

@) ﬂﬁmmﬁ@iﬁaﬁanﬁaﬁ?wéﬂammﬁu& A TAfa .

What is not correct about the scheme of Development of Women and Children in Rural

Areas (DWCRA) ?

(1) It is a scheme launched in 1982 as a subscheme of IRDP

(2} It focusses its attention on improving the economic status of women by creating
opportunities for income generation activities

(3) It also aims at improving the survival of young children (0-6 years) and women
(14-45 years)

(4) It focusses on women below the poverty line everywhere all over the country.
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(e SRS hE TRt oo deiaid aaw

(a) T FEE (b) W o gidreer \
() TEEdE Feui Hea (d) e | |
it 9 _ |

1) (a), (o) FfT (d) faum 4 A=A Q) (b), (a) faum 9 sl
@)  (a), (b) 30 (d) faur =g anga @) (), (b), (c) fasm 9 e
Centrally sponsored schemes for Scheduled Tribes include :

(a) Girls’Hostels (t) Research and Training

{c) Aid to Voluntary Organizations (d) Technical Education
Answer Options ;

{1) (a), {c) and (d) statements are correct (2) (b), (a) statements are correct

(3) (a), (b) and (d) statements are correct {4) (a), (b), (c) statements are correct

132..

awmmmﬁmaaﬁﬂzﬁnhmﬁ A, mﬁmgﬂwﬁmwﬁmmfaﬁum

" oS rHa ?

(2) BMSFINTUC- Wvﬁﬁtﬂaﬁagﬂn mmﬁﬁﬁﬁmmmﬁﬁ?ﬁmﬁ
(b) CITUJ AITUC - wwmmmm
(¢) HMSdTBMS - 3t 9 G QRaHH=An. Faid [aoedn JAHaw.
(d) aﬁaaﬁ&‘rﬂum mwmﬁrﬁumﬁqﬁﬁwm

1) () (2)  (a) ¥ (b) (3)  (b) 3 (c) (4 wH(d)

Which of the following Central Unions are involved in various activities such as organising
unskilled workers, lobbying for legislations to improve their workjng conditions, wages
and social security ?

- {a) BMSand INTUC - are involved in lobbying for legislations to nnprove their workmg

conditions.
(b) CITU and AITUC - are involved in organismg unskilled workers

-{¢) HMS and BMS - are involved in work related with wages and Social security
(d} all the above central unions are involved in the above cited various activities.

Answer Options :

1) @ (2) (@ and (b) (3) (b)and (9) (4) Only (d)
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133.

TGS T awWa%szm?ﬁmmﬁmﬁﬁﬁ?ﬁ
T Sftn T FEETS @R FE AW ?

(a) TG T ST FIARIFAA TR S Wlres o e Foam

(b) TGS TS FAR W

(€) a@qzmﬁmhqmméaﬂr

O @MY @ FEE@ @) @b @ (@A)

Which of the following are ensured and are under the purview of the Maintenance and

Welfare of Parents and Senior Citizens Act 2007 ?

(a) Need based maintenance for Parents and senior citizens and their welfare.

(b) Protection of the property of senior citizens

(¢} Keeping senior citizens in the old age homes

Answer Options : o

(1) @ (band () (2) Only (a) (@) (a)and (b) (9) (a) and (¢)

134.

AtE! S fEF TET 6 ?
(2) WS A el -wEes/ AT, S A ThE A Fel FH HUE, e T .

(b) ﬂﬂmaﬁm(mﬁr&m) 2000 3, mﬁmmﬁmaﬁm
FA.

(c) 'WWW]QHHWWHBOWWWWHW
T fedd AR

i I : _
1) (@ - @ ® 3) (o @) R

" Which of the following statements is not correct ?

(a} Proposed Equal Opportunity Commission was supposed to address gnevances of
the deprived groups.

(b} Sarva Shiksha Abhlyan (Education for ali) 2000, focusses on marginalised children’s
' education.

(¢) Indian Forest Act 1927 and Forest Conservation Act 1980 contain rights and safe
guards for scheduled tribes.

Answer Options : .
1) (@ @ ® _(3) (c) (4) None
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135. & < faumiteat s A R ?
(a) FCTUTHTHITAT FATTHIST 15 Ferdt Fshy woFH=) =v 4t = d, fon i afaen
(b) 15 HEH! HRIFHAT FHUERIG/ WA FTTHEAHRE R foR FarE qee VA ST,
wafe I ;
(1) F@ ) @ ¥ () @) T @ R
Which one of the following two statements is correct ?

(@) The 15 point programme for the welfare of the minorities was formulated as a Prime
Minister by Mr. V.P. Singh.

{b) The 15 point programme advised giving special consideration to the minorities in
the recruitment. -

Answer Options :

(1) Only (a) (2} Only (b) {3} Both (4) Neither

136, (a) ST SRR (SewTE Vi) @ FE GoArnd AL T FTE A g,
() maﬁ(wgﬁdﬁ)lwﬁgeﬂnwmaﬁﬂaaﬁ
(c) v Aol faehraren Hegfad 7 foriy Tporend Siieeien J9W, R ARSI 2.
- @ @FME G OAMEG @ (@)

(@) Mental Health Act was in application prior to the enactment of the Persons with
Disabilities Act.

(b) ‘Leprosy cured’ are also covered under the Persons with Disabilities Act.

(c) Incomplete development of mind of a person wh1ch is specially charactensed by
subnormality of intelligence, means mental illness.

Which of the above statements are correct ?

(1) all (2) (a) and (b) () Band@© (@) (2)and ()
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137. T THEFTS JEIAET W e Aoe g9l AR .
(@) HIE T Ugar fawe
(b) A T e T YT T
(c) TEAATH TAINAS o STae
(d) e FFTHS TERR TVa= Fed T
a9
(1) (), (b} Fa=m divq sTRa
@ ) () (@ fEem 9w awRa
@) @, @) ) TR 97 ama
@) (a), (v), (@) faum 37 ama
have together caused serious problems for the aged.
(@) The disintegration system of joint families.
(b} Rapid industrialisation and Urbanisation.
(c) Changing social values.
(d) Increasing proportion of women going out of home for work.
Answer Options :
(1) (a), (b) statements are correct
(2) (b), (), (d) statements are correct

(3) (a), {b), (c) staternents are correct
(4) (a), (b), (d) statements are correct

138. (i) 609 T AT TAH ARG STufilen FROA] GO IR o, T IRARIS WS
O AR,
(i) T TE T FAT EHATE T A A TN, TAGGI S Aew R
T fauridie FIvR =g SEe, faum o Vel e 3R ?
(a) Taum W (i) weite geet = siafite=n fowmit fufits
(b) OUR % (i) THiier TE = UrASS HeATn faweh grRrlt we
(¢) TauM % (i) 79e Tt ="FRI Tt THIOIG Tt Avg TR0
wgiH I
(1) T (b) @ () G ®F0 (4) v ()
(i)  Accidental deaths by unnatural causes among the persons aged 60 years and above
is a cause of concern in India.
"(ii) Abuse of old persons is grossly under reported in India as it is often regarded as
public affair not to be discussed with others.
Which words in the above statements need to be replaced in order to correct them ?
(a) Correction in statement (i) = unnatural to be replaced with natural.
(b) Correction in statement (ii) = public affair to be replaced by private affair.
(c) Correction in statement (ii) = grossly under reported to be replaced with correctly
reported
Answer Options :
(1)  Only (b) (2) Only (¢) (3) {b)and (o) {4) Only (3)
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73

ST S -
(@) Sirenfig foaR wE=
(b)  IRIEH TIIET e ATHOT IR BT AT

(d) FAR TR (e 9 foaT) s
iRt S
@ ® (© (@
M @ @ 6 G
@ @ @) @ )
G) @ @) @) 0
4) (@v) @) () @)
Match the following :
(a) Industrial Disputes Act
(b) Mahatma Gandhi National Rural Employment Guarantee Act
(¢) Child Labour (Prohibition and Regulation) Act
(d) Contract Labour (Regulation and abolition} Act
Answer Options :
@ @® () (@
(1 @ @) G Gv)
@) @ Gv) @) ()
@) G @) (Gv) @
(4) ) () @) @)

(i) 1986
(i) 1947
(c) wa FR (vftey 9 ) s (i) 2005
(iv) 1970

MOb6

@ 1986
(i) 1947
(i) 2005
av) 1970

140.

TG IR SR S Giaen e S 7

(a) RGN 9N FEEAE A8 TG =9 IS

(b) IAMFA T 3 TE-Fia IuTqHd T

(©) Yoo 99 A/ TIEYE M= WSaW 50% waew

(d) U9 IREET IHEIR AREE S

Y qig e

(1) (a) 30T (d) 2) (@) (), () 3 (©®) (9 (d) )
Which of the following facilities are provided to the senior citizens ?
{a} Senior Citizens Saving Scheme Account in Indian Post offices
{b) Income tax rebate upto < 3 lakh p.a.

{c) 50% concession in all mail/express trains

(d} Reserved seats in state transport buses

Choose correct options :

(1) (a) and (d) 2 (@) ®) (9 () @) () )

(a). (b), (). (d)

(@), (b), (), (d)
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141. Greieds wow AfreD e mt g A G deEs EE ?

(@) T Tl TR T T L

" (b) Wmmwﬁﬁmmﬁﬁ

(c) 65 THAA S FA AMTHS WA HTeal.

(d) FEEaRie Fgameie SR IH .

Tt e :

(1) (=) 301 ) (2) (o) 3nfor (d) (3} (a) ST (d) '(45 (b) 3T ()

Which of the following are not the features of the Indira Gandhi Old Age' Pension :
- Scheme ? 1

{a} Itis non-cqptributory |

(b) Only c1t1zens from rural India are eligible -

{c) ~Citizens abqve 65 years are eligible

(d) Only citizens belonging to BPL families are eligible
Answer Options :

(1) (a)and () (2) () and (d) () (a) and (d) (4) (b)and (9)
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142, ST oM@ :
' giar
(a) I SHFAN T/ WA fawa
IS/ AECIIEIE! WA

(b) TETeame 19 gAEed A

(c) WIS S RAFAT TEF )/ TeTE
(d) vE T fenafaifad) sfee=an
SUSSSTEV FHT AT

uai'a‘ta#r:

@ (b) () (d)
1y @@ @) vy (@)
(2 () @ @) (@)
@) () @(v) @ i)
4y Gv) (@) () ()
Match the following :

Scheme

(a) Assistance to disabled persons for
purchase/fitting of Aids/appliances

(i)

(iv)

@

(b} The Deendayal Disabled Rehabilitation (ii)

Scheme

(¢) Incentives to employers in private
sector providing employment to the
disabled

()

(d) Scheme for implementation of Persons (iv)

with Disability Act

Answer Options :

@ @b (@ (@
1) @) @) G) @
(2) Gii) () @) @)
@y @) Gv) O @)
@ (v) @ @

MO6

war
A=A FEH W gt 3 T8
3 0 TR M 3 W o E
TR S H FIOT Fheqin a1

- e

‘mﬁﬁ? RRCE]
Tafay Sa EvRn Yeeu F TR
wd e i

Service

Govt. makes payment of EPF and ESIS
for the first 3 years on behalf of '
employer

Funds for projects to make

building barrier free

Physical rehabilitation

Covers all aspects of
rehabilitation and projects
covering various services
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143, FH9F 3T F, 1948 Hawla e SR/ faum/ Y T s/ s ?

(@) M FEEE oY T S oI FeyrE A,

(b) A TR A E WSF hAd FwwE s s

(c) e HEPT R AN ot Faor G he

Tﬁ'@l o5 free

O @FEH @ GG @ TWE @ @, 050
‘Which of the following statements is/ are correct regarding the Minimum Wages Act, -
1948 ?

(a) There is no discrimination between men and women under the Act.

(b) The Variable Dearness Allowance (VDA) is based on the Wholesale Price Index.
{¢) The VDA is revised three times in a year.

Choose the correct option :

B @ad® @ Gad© © Oy@ B @OmE

..}‘

144, T TG TR W, 1092 W SRR ema
() T i Wi 9 e S,

(b) TTHUA TRTHARG SEAEHA @A,
(¢) YAaSA SEaiaEAT g 20, .
(d) TASHA NSTHA AT FEAAT WA 80 IO
1) @ b)) @ @ «© (d) g (3) (b), (), {d} (4)  (a) 31 ()
The objectives of the Rehabilitation Council of India Act, 1992 are : '
(a) Standardising and Monitoring rehab. professionals

(b) To frame syllabus for rehabilization courses
(c) - Training for rehab. professionals

(d) Granting reCOgmtlon to mstltutes runmng rehablhtatlon courses

Choose correct option :

1) (@) ®) ) 2) @ © @ (3} (®) (@ (@ 4) (@and ()
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145. EEEIHE FoR/d fGur/I S0e SR/ ?
{a) 2011 = FTVHTER, WA 2.68 FIEl Tl 39T e,
(b) T THY THESAT T 3.5% 3R,
(¢) TE§-Toran aTen SIS o 3 : 1 9.
iy ey |
1) @emE (2 wWE) @ O @ (@) AW ()
- Which of the following statements is/are correct ?
(a) As per census 2011, there are 2.68 crore persons with disabilities in India.
(b) They constitute 3.5% of the total population.. |
.{¢) Ratio of male-female disabled persons is 3 : 1.
Mer Options :
M @and®) @ Ony@ . () Gand@ = @ @and(

146, T T HIELT WIEEH! HIVE R TE 2
(1) IEH= saaﬂ% T H.
) TRFEE FUE, W A fiw S dem w.
(3) T TEeREUTHIE Gea TEs T,
(@) Teirem Fretan e S A H w0,
Which of the following, is not the object of the Consumer Protection Act ?
(1) Protect the rights of the consumer.
(2) To grant an effective, inexpensive and speedy remedy to the consuiners: -
(3) Establish consumer councils to protect his interests.

(4) To reduce the burden on the regular courts of such cases.
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147. Wesw GieAms fEdl @ el A ?
(a) wm_mwmmmw WO T 59 10 AHETTIA 3 - i T 400.

(b) WA 1 et fEa sl Tfeel THEH WOE € 50 O ¥ 21 W oY - W
2 3000. -

FIO[ T AR ?
(1) B (a) 2 ¥ () 3) = 4) THH T
How much fee is required to be paid in a Consumer Forum ?

(a) For a total value of goods or services and the compensation claimed of ¥ 5-10 lakh -
Amount of fee payable ¥ 400.

(b} For a total value of goods or services the compensation claimed of T 50 lakh - 1 crore
- Amount of fee payable T 3000.

Which is correct ?

(1) Only (a) (2} Only (b) (3) Both ' -(4) Neither

148. TITE® ORI HIF8], 2005 T8N IR WERA Tha, STt fan fiegdiam fetamdie aweiems Set
T FHATE T N TG HEA Waid IS 78 Fg TGN THl S HTA1ad
FHrAEH fee @,

(1) 10 femw (@) 20 feaw @ 15 Fkam @) 8faw

As per the Consumer Protection Regulations Act, 2005 if there is any defect in the filing of
the complaint, appeal or revision petition, the particulars of such defects shall be recorded
+ and the party shall be informed of the defects asking for removal of the defects within

(1) 10 days (2) 20 days (3) 15 days (4) 8 days
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149. TeF W stfufead 1986 T SifueRr @it 3 Wicafea w a o ¢
TEte faamia! SR &g o ?
(a) T 34, UEREE THA TR TR
(b) el <, T Ygaered
(c) Suwsy &Tdl, WYiEF oM fafgy a5
(d) T <E, T freamiaes

(e) M, Iew fgwr

(f) e I, T Y/ AR e

et 39T \

1) (3 @ @ 3 @) ol T

The Consumer Protection Act 1936 promotes and protects the rights of the consumers
and provides :

Which of the following statements is incorrect ?

(a) to be protected against marketing of hazardous goods.

(b) to be informed about the purity of goods.

(c) to be assured access to variety at competitive prices.

(d) to seek redressal against unscrupulous exploitation.

(e} to impart consumer education.

(£} to be informed of the potency of goods.

Answer Options : - ' _
1 (@) 2) (¢ 3 O (4) None of the above

150. G 3 Taumiiet wv arg e ?
@) WW@WWW@%&WW%WWMWW

(b) W@ﬁaﬁnmwmmm%mmmﬁw

3.
Tt 6
(1} 98 (a) (2) FI3 (b) @) = (4) wﬁtwré‘

Which one of the following two statements is correct ?

(a) The admissibility of a matter in a District forum is to be decided within 14 days of
the receipt of complaint.

{b} The seizure of the commodities has to be nﬁormed to the concerned consumer court
within 48 hours.

Answer Options : _ _ '

(1) Only (a) (2) Only (b) (3) Both * {4) Neither

-00o0-
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Al — (g8 1 a7 qe....)

®) TEEET fafea S fafire Jrie #= oW (T 9&) F09, TYRaFEAfaiT STueat a1
TR FIRE TR & HAM 4 HG FHOAET A F AR, 30 A0S TRS T AR FAIOH
RN ST S wtetine S T ik evameee sfufE-82" Ao agear R
AW Ho I SNl S FHIG Tk a9Ten wIgaEre stfv/fea T uE TR Saen S hem

@) TR TS SR fafen FOT G Ao ISANE @ TG T aat WEmaee
| UFT WO WA AR WA THAT HATETE SUarge! SHEama s Ietrarer wm-1
ARYHES 7 FEwr 7w anavaE ok

W HHIE

%. %. 201,

T T
201, HAE TG T FIOGHIET FION GO TI6T FS 2
(1) P EEe W @ g fEEmTR
@) T A | @  TEE e
™ TR G IR (3) T TORET WG R onE. R O WA SWC‘(3)"! NS, IRad
TTATHRIN 21 3. 201 TAS SR-uie *(3)" ¥ adee Poivol opifea w& Tafm sews
M
ONON NO
A TEE TR NI Y& Y g G T IR S TR

TRAIFANS T A WAPAFEUAS Gafvd Tg2 N SHifed F&4 o, gnEhar
ET Fed VI Mo aud, RS ar R 39 9ve .
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